NAIR Assistant Materials Manager AMM

Topic:- AMM_PA_NAIRAUG4

1) Bearings are accommedated under which PL group

Fafer Tt dieer wogp & sicAla W ae

[Question ID = 878][Question Description = Q01_AMM_PA_NAIRAUG4]
1. 56

[Option ID = 3509]
2. T8

[Option ID = 3510]
3. ‘85

[Option ID = 3511]
4 81

[Option ID = 3512]
Correct Answer :-
® 85

[Option ID = 3511]

2) In ABC analysis for in\fentory control, ‘A’ category items represent
SHIET AT & o v feser A v Aol asen sERe aRa

[Question ID = 879][Question Description = Q02_AMM_PA_NAIRAUG4]
1. High consumption value items / 3T9 39T e Aol FEC

[Option ID = 3513]
2. High rate items / 3 &¥ alell a&dqU

[Option ID = 3514]
3. Lew consumption value items / & STHIET He dlell a¢d0

[Option ID = 3515]
None of the given options is correct. / 6T 7w Tgored] & § @5 o 8T

EH A

[Option ID = 3516]

Correct Answer :-

® High consumption value items / 3T mﬁﬂaﬁ e

[Option ID = 3513]

3) Movable surplus are items
= HEHT aEge§

[Question ID = 880][Question Description = Q03_AMM_PA_NAIRAUG4]

Which have not been issued for last 1 year and are not likely to be utilized
1. by any railway in next 1 year? it fOeer 1 o I Y297 w151 [0 710 & 31T ey

1 @ & Taedt oft Yory gam 3w e Sy & e 787 &7

[Option ID = 3517]
Which have not been issued for last 1 year and are not likely to be utilized by
2. any railway in next 2 years? St fiwer 1 a9 & g2 =181 fohw amw & 3 3rer 2

a7 FebelT oft Yorer Sarr 3T feh ey i Hemae e 67



[Option ID = 3518]
Which have not been issued for last 2 years but are likely to be utilized by
3. any railway in near future? ST TOeseT 2 Hiel & G417 7161 1T 10 § Wi wiagy

3 fadt o7 Yora Sanr 3 o0 STy S OHiEeT 87

[Option ID = 3519]
Which have not been issued for last 2 years and are not likely to be utilized

4. by any railway in next 2 year? ST TOoeT 2 TIel & THIET =161 fhT 310 § 3T 30000
2 7er # TonaT off Yord S 3T U S & SHETEe 60 67

[Option ID = 3520]

Correct Answer :-
Which have not been issued for last 2 years but are likely to be utilized by
* any railway in near future? ST T 2 el & T =61 [0 1T § Wy Wy

3 foedt i1 Yo7 Sa 3T o0 STy ST OHiEET 67
[Option ID = 3519]

4)  Check digit for the PL no. with first 7 digits as 3898278 is
drue 9T o UEe 7 37 2898278 %, 39T U Sele F= R 7

[Question ID = 881][Question Description = Q04_AMM_PA_NAIRAUG4]
1. g

[Option ID = 3521]
Naone of the given options is correct / &0 717 Tagedi & & &5 o 987

2.
=l &l

[Option ID = 3522]
3. 1

[Option ID = 3523]
4. 0

[Option ID = 3524]
Correct Answer :-
0

[Option ID = 3524]

5) The reserve price of scrap materials is fixed by

b A 1 SRR AT B o G B
[Question ID = 882][Question Description = Q05_AMM_PA_NAIRAUG4]
1. PCMM/ Frfmaas

[Option ID = 3525]
2. CMM incharge of Depot / 0T & wamlr dioaeH

[Option ID = 3526]

3. Dy CMM (Depot) / BT Hiwaes (5491

[Option ID = 3527]
None of the given options is correct / fET 31T fawedt & & w5 o g0

o &

[Option ID = 3528]

4.

Correct Answer :- Deleted



6) Read the following statements about turnover ratio

TEATAN 3T & aN § e U 98

) (Total value of receipts in the financial year divided by total values of
issues in the financial year) multiplied by 100. / (e 29 & wita=t &

el #Hed, T oy # =1 & oot #ed 9 fasisia) 100 3 a0 febar 71

I} (Total value of issues in the financial year divided by total value of
receipts in financial year) multiplied by 100. / (& a9 # fadt & 50

He, A s & WIicoat & &o e < fasnior) 100 3 agom =)

111} (Opening balance of financial year divided by total value of issues in the

financial year) multiplied by 100_/ (f= 99 & YR s@r e B ay
# 3Tl & ot e < fasnfre e aram) 100 @ agor febar arm)

Which of the following options is comect / TF=Toi@d & & &9 @
faeed wel &
[Question ID = 883][Question Description = Q06_AMM_PA_NAIRAUG4]
1. Only I} is comrect / Faer ) TET &
[Option ID = 3529]
2. Only Il} is correct / hael 1) T8 &
[Option ID = 3530]
3. Only IIl)is correct / &aa |Il) T &

[Option ID = 3531]
None of the given options is correct/ BT 710 Tawed! # ¥ @i &7

ol 76l &
[Option ID = 3532]

Correct Answer :-

None of the given options is correct/ BT 70 Toasedl # & &5 &f
L]
hl AR B

[Option ID = 3532]

7) Uncovered dues are

SFGds 539 &4 &

[Question ID = 884][Question Description = Q07_AMM_PA_NAIRAUG4]
Matenals not received in properly covered condition by suitable packing

1. material / 399 4fa FEEl ORr 3R ¥ § oon @5 RulE A
AT I 6T 65

[Option ID = 3533]
Quantity for which purchase order for the material has been placed but
materal has not been received and accounted for / TFEN e T &=

" 3MeRr & e I & it T 9Te 61 65 ¢ 3R e fewa-fehare w81
TR

[Option ID = 3534]

Material for which funds have been arranged | ToIy el & aagriet &y
aEE h IS g

[Option ID = 3535]
Quantity for which purchase order is yet to be placed / @ #AT [GHF BT

* T 3Ear Y e T R



[Option ID = 3536]

Correct Answer :-
Quantity for which purchase order s yet to be placed | @5 #3T GEE foiw

& ST 3T e ARl G I G

[Option ID = 3536]

8) Rails are purchased by

[Question ID = 885][Question Description = Q08_AMM_PA_NAIRAUG4]
Maone of the given options is correct / feT o7 Toeedl & & +15 o 981 =81
1.
i
[Option ID = 3537]
PCMMs of zonal railways for their consumption as stock items / ¥2Te 3T5eH
& B9 # 30T & el e {od & diieETE
[Option ID = 3538]
PCEs of zonal railways for their consumption as stock items / T2l HISeA
i B # Ik @9 & O Fie od & 9EE
[Option ID = 3539]
PCEs of zonal railways for their consurription as non-stock items / I0-Feld
AEIHT & T H ITh WO & o0 Sierer o & s

[Option ID = 3540]

Correct Answer :-

Mone of the given options is correct / feT 1w Taeedt & & =15 off 981 81

®

[Option ID = 3537]

9) What is function of clearing agent? / TFeraTaT Tole & ®& 4T 7

[Question ID = 886][Question Description = Q09_AMM_PA_NAIRAUG4]
Agency who loads the imported consignment at sea port [ Toral &
Jrifad A9 F THEE SE0E 9 Wi e 6

[Option ID = 3541]
Expert who assists in getting goods cleared through customs. | Tada S

HAr o F AAH F Al H Aol Gl A Hergal Nl &

1

[Option ID = 3542]
Agent who helps in clearing formalities of letter of credit. | Toic SiF J0T

O T NIRRT Al O & 7 Agg, T o

[Option ID = 3543]

None of the given options is correct / &0 7iv Tasedi & & F5 off 8"

Mol b

[Option ID = 3544]

Correct Answer :-
Expert who assists in getfing goods cleared through customs. | fasras S
T oo & FEAE § AT H Ao feereT § WErT Ha &

[Option ID = 3542]



10) In Store Depot, one item is received in Liter. What is the code of unit of
accountal in Liter? / T8 30T # Tk awq dliex # oied 8t §1 eSea

&1 sFE & Fs FieL F 7L

[Question ID = 887][Question Description = Q10_AMM_PA_NAIRAUG4]
1. 24
[Option ID = 3545]
2. 39
[Option ID = 3546]
3. 51
[Option ID = 3547]
4. 61
[Option ID = 3548]

Correct Answer :-
® 51
[Option ID = 3547]

11) As per denial clause of purchase of material. consider following statements.
AT T Wi & T5ITel aeilel & HegaR [Heeielidd S« W fdam el

1) Any increase in statutory duties and or upward rise in prices due to the
price vanation clause are borne by Purchaser for guantities supplied

during extended delivery period / eTTsies &1 # HI5 o ggftr a1 7ew
ffie=iar W (PVC) & FRoT HiAdr & sl & fovaia Bead e s
aRTet 3 T 778 HTAT R TelT dhell GERT dger T ST 61

I} Any adverse fluctuation in foreign exchange rate is to be bome by
purchaser for guantities supplied during extended delivery period /

mwmmmgmﬁﬁﬁmaﬁqﬁaﬁﬁﬁﬂua
& T 1T Qe STR-TeTd ST a6+ dhell ol dl a1

) Seller reserves the right to recover for any downward revision in statutory
duties and/ or downward revision in prices due to price varation dlause

for supplied material during extended delivery period / e el
mﬂt-a‘fwanqﬁﬂ:ﬁmﬂmﬁma?ﬁ | Fe I =1 @5 (PVC) & &ROT

il # fvrae & o fahar a1 e &= & SFEHR G B
Which of the following options is comrect?

Feefaa & & 35 ar fees agr &7
[Question ID = 888][Question Description = Q11_AMM_PA_NAIRAUG4]
1. Only | is correct / Fael | T6T &

[Option ID = 3549]
2. Only |l is correct / e || T6I §

[Option ID = 3550]
3. Only Il is correct / &ae ||| HEI 5

[Option ID = 3551]
None of the given options is correct/ 20 717 Tasedl & & =15 off ar

4.
Ciil

[Option ID = 3552]

Correct Answer :-

None of the given options is correct / 20 717 Tased! & I =15 off a1
G

[Option ID = 3552]



12) As per canons-of financial propriety please read following statements carefully-

I} Public money should be utilized for welfare of public only.

I} Mo authority should exercise its power of sanctioning expenditure pass an
order, which will be directly or indirectly to its own advantage.

Ill) The expenditure should not pnma facie be more than the occasion
demands.

Which of the following options is correct?

o ooy & Readl & s Foor Geffas s & aam
erc

) S €= S SUART had ST & HedIVT & (e Tl S Aeal
I1) TeivefT 8fr QIErhIT ot oo Ticha aReT S T ATFT H FIET H 5O
UHT A Uid =81 &l JIpE, Sl Uoal Ol HIcHsl §9 3 386 AT
st & T N

I11) FereT GEAT SR HawY B AT § HAE A4 gl AR

Fe=tataa 7 O ala o Gaeg agr g7

[Question ID = 889][Question Description = Q12_AMM_PA_NAIRAUG4]
1. Only | and Il are comrect / Faet | 3N 1 T&TH

[Option ID = 3553]
2. Only Il and Il are correct / #ae || 31T 11 FET &

[Option ID = 3554]
3. Only Il & | are correct / #aer Il 3 | TETE

[Option ID = 3555]
4. AllL Il & Il are correct / BT | 13T G961 E

[Option ID = 3556]
Correct Answer :-

® Only Il and Il are correct / Fad || 3R 1l TETE

[Option ID = 3554]

13) Ealeulate total value of offer for basic price @ Rs 500 + Packing charge 8% +
freight Rs 25/- each + GST @ 18% for quantity 20 numbers-

TECTE & el Hed el I X | EX 9T @ 500 + UTehaT 3k 8% + 87T 25/- Fediedh
+ SOHL @ 18% , HET 20 79T

[Question ID = 890][Question Description = Q13_AMM_PA_NAIRAUG4]
1. Rs13334=00/ 13334=00%

[Option ID = 3557]
2. Rs 13278/ 13276=00%

[Option ID = 3558]
3. Rs12876=00/ 12876=00¢

[Option ID = 3559]
4. None of the given options is correct / 6T 710 fa&heq] # G &S T8l el &

[Option ID = 3560]

Correct Answer :-
® Rs13334=00/13334=00%

[Option ID = 3557]



14) Read of the following statements for quantity option clause in contract.
FHe[dY (Contract) & AT &9 W5 (Option Clause) & Tt Fealdi@a sus
TGl
Iy While deciding the acceptability of tender/contracts the value of quantity
under "+30%" option clause will be included in the value of tenders for

determining the level of competency of acceptance / T=ifdgpargaal &
TR o e THT TG 1 TG & T H iR w3 & o
"+30%" fdeeq @5 (Option C:ause} & TGl A a1 Hedl [=Ademit & Hoa &
Qnfdter Tohar ST

[I) Option clause may be operated by the competent authority within his powers
of tender acceptance for original quantity / T&TH WITEIRNI EaRT Tdded

(Option), #eT AT & fore fATaer Tiiental &1 1=l arferaal 3 siieq Tt fsar
ST Hehell B

I} Operation of +30% option clause in TC cases is to be done with Finance
concurrence. ST \Fel A +30% fd9ed @S (Option Clause) &1 oo o

&hr FeATd T A

Which of the following options is correct

Eafaf@d # & #i9 @ fawey ¥6l &

[Question ID = 891][Question Description = Q14_AMM_PA_NAIRAUG4]
1. Only |) is correct / &aer 1) TET &

[Option ID = 3561]
2. Only 1) is correct / &rae 1) T8 &

[Option ID = 3562]
3. Only Ill) is correct / Faer IIl) @Er &

[Option ID = 3563]
None of the given options is correct | 6T 71T Tdehedl # I @S off 6!

E i
[Option ID = 3564]

Correct Answer :-

Mone of the given options is correct | 6T 71T Tasredt 3 I &S off 6!
I &

[Option ID = 3564]



15)  As per Model SOP issued by Rly Bd, please read following statements carefully
for powers for approval of AAC of items.

I} DyChMM- upte Rs 1crores
1) SMM- Full powers for B Category items up to his power of acceptance
HNAMM- Full powers for C Category items up to his power of acceptance

Which of the following options is correct?

o diET g@nT SR Afse TR & AR, aEge $ e &1 A5l & e

Aol & foIe Huar Heloaa s« & wae g

) 39 HiTATH -1 F5 T dF

) weeATH - o Aol & areht & v sud wef i ofed o gof
siferaat

I11) weEeH- i Aol i ava & P 3w st o gfva aw 9o i
fortat@d & & sl & sy 9§ 82

[Question ID = 892][Question Description = Q15_AMM_PA_NAIRAUG4]
1. QOnly | &1l are correct/ @aer | AT TET §

[Option ID = 3565]

2. Only Il & Il are correct { el Il 3 11l FETE
[Option ID = 3566]

3. Only 1l & | are correct / &ae | 3T | 96T E
[Option ID = 3567]

4. Al L& Il are correct / T80T 1, 1 AR T8r §
[Option ID = 3568]

Correct Answer :-

e Only Il & | are correct / &ad Il 3 | 8T E

[Option ID = 3567]

16) As per stores shield criteria target for percentage of retendered cases (As % of
total tender cases decided including retender) / ¥R €lies A=ds & 3O 00

fafder fovw aw ®Eell & wided & foiv owg (gon feifder @fga ag fFe aw
Fol feAfder A@al & % & §1 #A)

[Question ID = 893][Question Description = Q16_AMM_PA_NAIRAUG4]
1
- 10%

[Option ID = 3569]
2. 12%

[Option ID = 3570]
3. 15%

[Option ID = 3571]
4. None of the given options / &7 71T fa®eal & 4 &5 761

[Option ID = 3572]

Correct Answer :-
® 15%

[Option ID = 3571]



17) RDSO approved status of L1 bidder in direct acceptance tender in which matenial
is to be procured through RDSO approved source only is approved up to
31.01 2024 Valdity of offer is 80 days A tender of this item 15 opened on
05.01.2024 Tender decision is being done on 25.02 2024 but bidder is debarred
by RDSO on 20 02 24 What aclion should be taken by accepting authority?

UCHET Fdidid Hfdar # ol dieligar & FNSeEsT wEiea fufd, e
T Fae ARSTEAT AT W & Aegn ¥ il S § 21.01.2024
dd HeEifea &1 et & duar 60 e & 59 g & e RAw 05.012024
w @rom 1T & Bfagr Bei 2502 2024 & S 91 @ § ofee ol o
arel &I 20.02.24 & ANSIUHT gail Fidareid & fear a9r §) WEsR FHian
T T FRAS T A= TET?

[Question ID = 894][Question Description = Q17_AMM_PA_NAIRAUG4]
P.0 s 1o be placed on L1 bidder if rates are reasonable as firm was approved

source of RDSO on tender opening date. / Ifg g1 3=a & ar 413 &1 T
1.

‘AeileEr W JE wier F#=bie e @ @i @ee & aiE 9w

SNSICHAT &1 Hid el fabar =r o

[Option ID = 3573]

Tender is to be retendered as offer of L1 is not RDSO approved on 25.02 24
because firm was debarred on 20.02 .24, thus it is to be treated as withdrawal

of offer by L-1 bidder / ffder &7 = ovgd &ar S=m § &=ifE oot &

& ST 25,0224 F1 HREICHIT GaRT HIAifee 1T & aFiifer we T 20.02.24
FI gfadfa w2 o 7790 o, 59 96K 50 U1 dicligidl cant 9edid angd
el o T # HI= S|

[Option ID = 3574]
Bid of next RDSO approved source 15 to be considered as finm has been
debarred by RDSO on 20.02.2024 thus cannot be considered L1 / 3WTr

3. HRSEHT HHIed Wid & d@en W TR G e Tty =i e @
HRECHHT garl 2002 2024 & widdfEa & fGar @=r &, safev s wat
i | e s s | B

[Option ID = 3575]

None of the given options is correet /| TET 71w fagedi & @ &S & @ #gT
o

[Option ID = 3576]

Correct Answer :-
Bid of next RDSO approved source 15 to be considered as finm has been
debarred by RDSO on 20.02.2024 thus cannot be considered L1 / 3T

o FRESITH3N HeAIGd did &1 dtenl W fAER G S ST w4l o @
HRECHIHT garl 20.02.2024 & widdfEa & fgar @@ §, safdv s oot
G i1 e s s

[Option ID = 3575]



18) What do digits of PL number signify.

1) First two digits tell main group of item.
I} Third, fourth & fifth digit tell sub group.
I} Sixth and seventh digit is sernal number.
V) Eighth digit is check digit

Which of the following optiens is correct

diuer #ag & 3 w41 geiid 87

) uper &7 37 9%q & HET §AF & adid 6
I1) <fewr, =tar 3iR gr=En 37 W9 49 G|
1) @& 3R agar 3is & 7S ol

IV) 3&aT 3% OF 3 ol
frfaf@a d @ st ar e af §

[Question ID = 895][Question Description = Q18_AMM_PA_NAIRAUG4]
1. Only 1) 1) and IV) are correct / aer 1) 1) 3R IV) T8 &1

[Option ID = 3577]

2. QOnly ) & IV) are correct / &aer ) 3R IV) T8 &

[Option ID = 3578]
3. Only 1) 1) & IV) are correct | aer 1) 1) 3R V) T8T &

[Option ID = 3579]
4. AL N 1 and IV) are correct / 728 1) 1) 1) 3% V) @@ §

[Option ID = 3580]

Correct Answer :-

* Only ) & IV) are correct / &aer 1) 3R IV) T8 &

[Option ID = 3578]

19) In 8 digits of PL number / 97eT da¥ & 8 3T A

[Question ID = 896][Question Description = Q19_AMM_PA_NAIRAUG4]
First four digits are significant. Last 4 digits are non-significant / 9gel

1.
IR HF AFeAYYT §, AT 4 HF ApeatiA ol
[Option ID = 3581]
First four digits and 8t digit are significant, 5t 6 & 7t digits are

2. non-significant / Tger I 318 31X 8aT & AecaoT &, 5aT, 637 3R
74T & FEcded &
[Option ID = 3582]

3. All eight digits are significant / @sft 375 3@ Hgea ol ¢

[Option ID = 3583]

4. No digit is significant / 15 &ff 37 Fgeaq™ 4T ¢
[Option ID = 3584]

Correct Answer :-
First four digits are significant. Last 4 digits are non-significant / 9gel

IR 3 Hpeddyl §, HAH 4 36 Hpcagid ol

[Option ID = 3581]



20) Please read following statement about PL Number

1y If 15" digit of PL number is 1, it denotes Diesel loco parts & fittings.

11y IF 1= digit of PL number is 4, it denotes Signal & telecom store.

1y IF 1= digit of PL number is B, it denoctes Engineering plant, machinery &
parts.

V) IF1=tdigit of PL humber is 2, it denotes Elect loco parts & fittings.

Which of the following answer is correct

FYAT YITer HaY & 9 H el #2596

1) &t droer dEar & ggar 3w 1§, Al 95 Sera e e Y R

& g Bl

|1y @it dTwer T o UReT 3 4 B A 7% [eew 3R i w© R
& G &l

Iy &ife diver Gen i ggell 3 6 & Al 95 Sellieaner g4, #ehen
IR #ET g B

V) aife, dieer FEar &1 Tgem & 2 §, O ¥ fdgdd oie AEm AR
Rsfean @ gt ¥ |

AT # § S a1 398 ¥ b

[Question ID = 897][Question Description = Q20_AMM_PA_NAIRAUG4]
1. Only 1Y, 1) & 1) are correct / Sraet 13, 1) 35 1) &6 &

[Option ID = 3585]
2. Only 1), 111} & IV) are correct / &hael 1), 1) 30 V) T6r &

[Option ID = 3586]
3. Only 1), V) & 1) are corect | raer 1), IV) 3R 1) @8r &

[Option ID = 3587]
4. AN Y, 1) & V) are correct / T3 1), 1), 1) 3 IV) T8 8

[Option ID = 3588]

Correct Answer :-

® Only IIl), IV) & |) are comrect | &aer 1), V) 3R 1) T8 &

[Option ID = 3587]

21)  As per Stores Code departmental stock verification needs to be done,
for selected items such as
) ltems of Large annual consumption having regular issues
1) ltems of heavy intrinsic value like nonferrous.
I} Tool steel
V) Items of pilferable nature.
Which of the following option is correct

TR @IS F IGEN [aHEE Tid Fedra= aaiad aeg3l & few

(12 I | 5 G T T e e

) a5 aiffe 3usler &1 oy, o BT w1 & SR &
Sl &

) el 3afE Aod $ aege o Hellgl

11 Zol eIl

IV) = AT gaia & aeqe

farfaf@a § ¥ S a1 @Fed ol 6.

[Question ID = 898][Question Description = Q21_AMM_PA_NAIRAUG4]



1. Only 1), I1) and 111} are correct / &ael 1), 1) AT 1IN TET &

[Option ID = 3589]
2. Only 1), I11) & IV) are correct / #aer 1), 111) 3% V) T8 &

[Option ID = 3590] _
3. Only ), IV) and 1) are correct / &aer 1), IV) 3 1) T6r &

[Option ID = 3591] _
4. Al 1), 1) and 1V) are correct / d) F&T 1), 1), 1) 30X V) T8 &

[Option ID = 3592]

Correct Answer :-
o ALY, 1), 1) and IV) are correct / d) @it 1), 1), 1) 3R V) @Er &

[Option ID = 3592]

22) As per Stores Code what is the frequency of verfication of custody
stores by the stock verifier of Accounts department / T2l #IE &
FIER T G & e Fcaaeiedl cail AT #sK &
[T &I G R 57

[Question ID = 899][Question Description = Q22_AMM_PA_NAIRAUG4]

! Oncein3menths / 37 # TF aX

[Option ID = 3593]
2. Oncein & months | 6 @R T U @l

[Option ID = 3594]
3. Onceinayear /3% 7 Tk a]

[Option ID = 3595]
4. Oncein 2 years /299 & Ud aX

[Option ID = 3596]
Correct Answer :-
® Oncein ayear /@9 & Th @]

[Option ID = 3595]

23) As per Stores Code which of the following statements is correct for
Inspection & Valuation of returned Stores on Advice Note / Te &I &

HTIR Tellg e T Atee v TR & HEor 3K Jgeaea & @
forafefas & & &9 o1 Fua 961 &

[Question ID = 900][Question Description = Q23_AMM_PA_NAIRAUG4]
It is inspected & wvalued by gazetted officer of stores

1. Department / 5% 889 & Toufaa ¥R g@wr soar
faliaror 3 Feuia far smar &

[Option ID = 3597] _ _
it is inspected & valued jointly by gazetie officers of Stores

Department & Account Department / S&& fmor 3R
Hediha 85K fasmeT 3 o [Jeimer & Usutg difeeiEt
ZART TgFd 7 3 & S g

[Option ID = 3598]
It is inspected & valued jointly by gazetted officer of Stores,

Accounts & officer retuming the stores / 5957 =@ 3K
Hedldhel $TSK & Tediad HEERT, oE@r Hi o5/ eifer arer
HEFRT ZaRT Thad 9 F T ST &



[Option ID = 3599]
It is to be inspected & valued by survey committee / SHRT

4.
fedfiaror 3N #Hoaiea Gdaror GfATE cann e == &
[Option ID = 3600]

Correct Answer :-

It is inspected & wvalued by gazetted officer of stores
* Department / 851 Ta®ar & Uaufda HEH o/l sHad

fiEToT S Hediaa o =nar &

[Option ID = 3597]

24) As per Stores code read following statements carefully for valuation
of returmed stores on Advice Note /

) Second hand serviceable Stores will be credited at haif the
price list rate of new Stores.

I} Second hand rails released from existing lines which are
supplied to new projects, prices of these rails should be taken
as 65% of the market price of new rails.

Which of following option is correct.

TR @5 & HAAR Aollg =ile / 9T ollelT 30 R & Hodishe
& o fAeafaf@a s & eae & 92
) &F5 85 Afddae W A TR A qed T8 e & 3
o FiEe Rar e
Iy Hisiel ois=l & S d%5s &5 Yol S =5 URASEBT &
Fgfed 7 SEr € 5 Wil i AT 9% o aeR e
o 65% AW S AR
Teafafaa 3 4 &= a1 fowes e &
[Question ID = 901][Question Description = Q24_AMM_PA_NAIRAUG4]
1. Only 1) is cormect / Shad |) TET &
[Option ID = 3601]
2. Only 11} is correct / &der 1) TET &
[Option ID = 3602]
3. Both 1) & Il are correct / 1) 31T 1) S=T @ar &
[Option ID = 3603]
4. Both 1) & I1) are incorrect / 1) 3 1) 2T 09 &
[Option ID = 3604]

Correct Answer :-
® Both I) & |1} are comrect { 1) 3% 1) ST Gar &

[Option ID = 3603]

25) As per Stores code what is the rate of demurrage charged for wagons
detained in Departmental siding of stores Department / TR &®I5 &

HTER TR Tawer F ey w7 U v daEl F o Hefed
e B &Y T &

[Question ID = 902][Question Description = Q25_AMM_PA_NAIRAUG4]
. Applicable to erdinary public traffic / F#T=T TASTE AR W)

ﬂ]'cl:[

[Option ID = 3605]



2. Zero/ CirEas
[Option ID = 3606]
Half the rate of ordinary public traffic / TTHT e AT
&1 3 aX
[Option ID = 3607]
Double the rate of ordinary public traffic /| G Ad<=id IamEd
& ET g

[Option ID = 3608]

Correct Answer :-
. Applicable to ordinary public traffic / TS AR W)
]

[Option ID = 3605]

26) Asper Stores code time limit for lodging claims for loss of Stores in
transit while being carried through wagons 1s "A' from date of booking
and time limit for setilement by Chief Claims Officer is ‘B’ from date

of booking. Values of ‘A’ & ‘B’ are / TR &I5 & HefaT d7=] SF‘
AIH I O S WA IR TR & e & A g ge
il i THG TIHAT ke T ARIE 3 T § 3R AT grar SeR
gany fovers &1 wHa e g & alie & i g sl e
& T B

[Question ID = 903][Question Description = Q26_AMM_PA_NAIRAUG4]
1. A—onemonth B —2months /| T - Ueh HEEAT 47 - 2 AgleT

[Option ID = 3609]

2. A-Zmonths B—4months/T - 2HA8R & - 4360
[Option ID = 3610]

3. A—3months B—6months /T - 3HGS &l - BHB
[Option ID = 3611]

4. A—6months B—12months /T - GHER & - 12 F60E
[Option ID = 3612]

Correct Answer :-

* A_Gmonths B-12months/T - 6FEA & - 12Fg=

[Option ID = 3612]



27) As per Stores code survey committee should determine after inspection

[y What Stores s to be treated as movable surplus

I What Stores is to be treated as dead surplus

(1} What Stores should be classified and rate second hand

V) How much Siore should be issued for use fo particular
department and at what rate.
Which of the following option is correct

TR FI5 & AR gae aia & e § ag SR s
qART

|) R si5R &1 el N A= ST

) e 975 T Ha AT Hi=r SeEn

Iy fer #SR 7 @diea G s e 3R A8 e &
ST AR

V) fasr Taemer &1 3uier & foie foaar Ter SR e sien =ige
HR o8 ax 9
ATl & 4 ol o faeed Tar &

[Question ID = 904][Question Description = Q27_AMM_PA_NAIRAUG4]
1.1, I and 11y are correct / 1), 11) 3T 1) @& &

[Option ID = 3613]
2. 11, 11y and IV) are correct / 11), 111y 31X IV) 9&Y &

[Option ID = 3614]

3. 1Il), (V) and 1) are comrect /1), IV) 3R 1) HET &
[Option ID = 3615]

4 AL & IV are comrect /&9 11, IR IV EET &
[Option ID = 3616]

Correct Answer :-

o 1), Ity and V) are correct / 11}, 11y 3T V) &7 &

[Option ID = 3614]

28) As per Stores code, survey committee appointed by ‘A’ Secretary of
survey committee is 'B".
Which of the following options-is correct.

TR $Is & IHFHN, a1 WA T gann fSgad & S §) wdator
wiAT @ g 49 e
Seae@d & & e AT w6

[Question ID = 905][Question Description = Q28_AMM_PA_NAIRAUG4]
A = PCMM B = Depot officer /
1.

T = ddfivAug & = By afEerd

[Option ID = 3617]
A=GM B = officer of other than Stores Deptt/

T = Siea a3 = TR TOHET & e 3T T

[Option ID = 3618]
A=GM B = Depot officers /

3.

T = A i = T3a7 sfEerr

[Option ID = 3619]

A =PCMM B = officer of other than Stores Deptt. /
4.

T = AT & = TR SEET F e 39T e

[Option ID = 3620]



Correct Answer :-
R A=GM B = officer of other than Stores Deptt/

T = S a7 = TR G F Her 30T e

[Option ID = 3618]

29) Delivery from Scrap Yard, for scrap material generated from workshop
is supervised by / SIRIRIET ¥ 3c0e=T 9 TiEAT & ol Thy s

¥ fedial 1 s & a3

[Question ID = 906][Question Description = Q29_AMM_PA_NAIRAUG4]
DMS; Stock verifier, RPF representative / ZSITHTH, TEla

-Wﬂﬁ‘i’,mm

[Option ID = 3621]
Depot officer, Accounts officer, ASC/RPF ( Bur sf&err, wmar

' HAfEFH, TTHHHRYITE

[Option ID = 3622] .
DS, SSEMechanical, Stock verifier /| 2SIUATH, THUES!

3.
Herfarher, Tl TcaTgahar
[Option ID = 3623]
DMS, Sr Section officer/Account, SSE/Mechanical / SioHTH, G

4.
T TR, TS A e

[Option ID = 3624]

1

2

Correct Answer :-
DMS; Stock verifier, RPF representative / BSITHATH, TEl&

TaTI=Tehar, HUes wiaEEr

[Option ID = 3621]

30)  As per Stores code what is ‘Sub Head' of Account for ‘Stores in Transit
under Major head ‘Capital, Minor head ‘Stores Suspense’| which are
generally operated upon the Account books of the Stores Account Office,
which is mainly concermned with accountal of transactions connected with

‘Stores’ / TER F15 & R 7@ Y i & d6d Tihoe § W F
for @y & 39 o Fr § e oy O wew wew d S e
AT W TR @iar SRy & @i el W g 8id o, o #Ed
¥ ¥ gafdd § R ¥ o oadd & Rue-ae & gy
[Question ID = 907][Question Description = Q30_AMM_PA_NAIRAUG4]
7110

[Option ID = 3625]
2. 7140

[Option ID = 3626]
3. 7160

[Option ID = 3627]
4. 7170

[Option ID = 3628]
Correct Answer :-
® 7170

[Option ID = 3628]



31) As per Stores code, the sub heads of accounts under revenue- working
expenses are

Iy Revenue abstracts

I Miscellaneous advance

1151 Deposits miscellaneous.

V) Transfer Divisional

Which of the following option is correct?

T FI5 & FAN, UAEd-FE 0 & Fod @l & o §
1) e |1
I fafaer afie
) fafaer sAr
IV) T HE
TteTaT F ¥ Fi9 97 Aoy 9er E
[Question ID = 908][Question Description = Q31_AMM_PA_NAIRAUG4]
1. @nly 1y, 1) & Iil) are correct / shael 1), 1) AT 1) T5T &
[Option ID = 3629]
2. Only I1), ) & V) are correct / el 1), 1) 3T V) T8T &
[Option ID = 3630]
3. Only Iy, IV) & 1) are correct / &haret 1), V) 3R 1y @ar &
[Option ID = 3631]
4 AN, I, 1) & V) are correct /&30 1), 1), 1D 3 V) =8 &
[Option ID = 3632]

Correct Answer :-

AN, I, NN & V) are comect /8T 1), 1), 1N 3R V) T8 &
[Option ID = 3632]

32) As per Stores code the head which will be debited with the value of
stores |ssued on suspense gccount by credit to "Stores’ and will be
credited when the stores are returned by debit to 'Stores’ is called?

N FI5 F FER ap 9 O wEiE g ® Sl B e w2
& g & WY TR H Hi5e w0 ST fhar e 3R s
& TR & Sfde S Ao S @ 3 Hise G s, 39
oI gl T £7

[Question ID = 909][Question Description = Q32_AMM_PA_NAIRAUG4]
1. Miscellaneous advance / fafaer #fEH
[Option ID = 3633]
2. The transfers — Divisional / =09 - SHEET
[Option ID = 3634]
3. Stock adjustment account [ Felen THETGIST TT
[Option ID = 3635]
4. Stores in transit account | TRETH Ty & HSH
[Option ID = 3636]

Correct Answer :-

* Miscellaneous advance / [afae 3fEH

[Option ID = 3633]



33) As per Stores code Annual accounts shotlld be submifted by the Stores
Accounts office to the ‘Book Section’ containing

I} Value of Stores in Depot Account

1) Capital & Revenue Account

1] Finance Account

V) Appropriation Account

Which one of the following options is comect.

TER HS & HAOR afie @ TR FEHEe Hed @’ IEad
T A WG e S i

I) FSOT Wiy # #isR & Hed

II) I=iT TF Ted @i

111y faer @

IV) fafaaiar @ran

fefafda & & g & faweT &6 §1

[Question ID = 910][Question Description = Q33_AMM_PA_NAIRAUG4]
1. Only 1), 11) & 111) are correct /&g 1), 1) 3 1) 8T &

[Option ID = 3637]
2. Qnly 1), 111) & IV) are correct | Faer |1, Il) 3T V) TET &

[Option ID = 3638]
3. Only 11, IV) & 1) are correct / Faer 1), V) 3T ) F6T €

[Option ID = 3639]
4 AN, 11, 1) & V) are correct / F# T 1), 1), 1) 3 IV) FeT &

[Option ID = 3640]

Correct Answer :-

o Qnly 1), 11l) & IV) are correct [ Fhael |I), 1) 3T V)& &

[Option ID = 3638]

34) As per Stores code Exhibition of losses in the Account is done under
the following heads.

1) Physical losses

1] |L.osses due to theft

1y Losses due to Varation'in price

V) Losses due to obsolescence & deterioration
Which of the following is comrect.

W #5 § IER @d § = & g FEeidg dive &
ded & Sl &

1) eI FIfe

1) =T & &ReT gife

) e & Bestar & ST gie
IV) H9=e= HR PRrde & &Ror gl
oot & &l @ wr A

[Question ID = 911][Question Description = Q34_AMM_PA_NAIRAUG4]
1. Only I, 1)& 111} are correct / 3kaer 1), 1) 3 1) T8T &

[Option ID = 3641]
2. Only 1), I11) & IV) are correct / &aer 1), 1) 3R Iv) =6 &

[Option ID = 3642]
3. Only 1), W) & 1) are correct / &aa 1IN, IV) 3T 1) T@r &



[Option ID = 3643]
40 A, I, N & IV are correct / TEi1 1), 11y, lll}iﬂ'{ V) e g

[Option ID = 3644]
Correct Answer :-
® Only 111}, IV) & 1) are correct / Faer ). V) 3T ) TET &

[Option ID = 3643]

35) As per Stores Code the figures of opening balance of Stores budget
for ensuing year will be an estimaied figure made up of

1) The estimated book value of Stores expected to be in stock at
the end of current year.

I} The estimated net result of outstanding balances under the
Stores suspense heads: of purchase — imported, indigenous,
sales etc.

lil) The amount expected for sale of scrap during current year.

V) The amount expected to be outstanding in the stock adjustment
Account after the accounts for the year are closed.

Which of the following is comrect.

W Fs & IR JPTH o F B = g9 & aifEE 9w %

)= A & 3T 7 W H ST g% ded, Toie 9 g a
35HIE Bl
Iy =R o5y @lie & o - smfag el Adr e & asg
ST A9 T HeHIAG Ao IR
1y =re @ & gRe T & B § e e afin
V)@ & foT @I 96 o1 & @G it GArie g & a6 gl
& 3 T a5 Wi
et 3 & Fl T w E
[Question ID = 912][Question Description = Q35_AMM_PA_NAIRAUG4]
1. Qnly 1), 1) & IIl) are corect. / &t 1), 11) 37 111 T8 &1
[Option ID = 3645]
2. Only I1), 1) & V) are correct. / Saer 1), 1I1) 31T V) 98T &1
[Option ID = 3646]
3. Only 1I1), V) & 1) are correct. / aer |II), IV) 3R 1) 98T &1

[Option ID = 3647]
4. Only IV}, 1) & 1) are correct / Faer V), 1) AT 1) TET &

[Option ID = 3648]

Correct Answer :-

o Only [V), 1} & Il) are correct /shaer V), ) 31X 1) 8T &1

[Option ID = 3648]



36) As per model SOP — 2018 issued by Railway Board, please read
following statements carefully for powers of signing of Nonh stock
requisitions by user department.

1) Junior Scale officer upto Rs. 1 lakh.

I} JAG/SG officer above Rs: 2 lakhs upto Rs. 15 lakhs.
) PHODI/CHOD — above Rs. 45 lakhs,

Which of the following option is correct.

T dlS gEn S Aise T - 2018 & HTAR, ITUEERAT AR
ZaNT IR T FETHART W EERT e @ ufFad & e
Fual A $UA H G- T 98

|) SR 6ol HIEFHAT §, 1 &1
1) STTSi/ TSl ATEHRT 2 o S99 39 I 15 o 399 oé
1) droeiEyaTasiET - 45 oM $99 I SO
Faelida & & @i 91 deed 9ol 6.
[Question ID = 913][Question Description = Q36_AMM_PA_NAIRAUG4]
1. Only 1) & 11) are comrect | &ad |) 3 1) F8r &
[Option ID = 3649]
2. Only 1) & 1) are correct. / &aer |1) 3T 1IN T&T 31

[Option ID = 3650]
3. Only I1l) & 1) are correct. / hdel W) I 1) TET 51

[Option ID = 3651]
4. Al 1) and Ill) are correct. { T8 1), 1) 3R 1) T2T £

[Option ID = 3652]

Correct Answer :-

* Only I1) & II) are correct. / &der 1) 3T 11N G&F &1

[Option ID = 3650]

37) As per model SOP — 2018 issued by Railway Board, power of invitation
of Single tender for non-propretary aricles without Finance
concurrence in emergencies affecting maintenance, out term
operation etc.

)] JAG officer - NIL power

Iy SAG officer - upto Rs.45 lakhs

) PHOD/CHOD — above Rs.45 Lakhs
Which of the following option is comeel.

(e &15 GaRT ST Aise TEITr - 2018 & AR, WHAM, H5e-
T T 311G & GEIae @t aren 3Mda R # e weat
& e ficaEiowen odl & [Ov vee Wfde dAtEg & &
aﬁﬂ||

1) SElr IR 4T YT

1) wHUSIr AFSAT - 45 9Hg $99 d&

111y dreeErHeaHE - %, 45 O J HiEE|

FETaaT # § #F 91 deey 987 6.
[Question ID = 914][Question Description = Q37_AMM_PA_NAIRAUG4]
1. Only 1) & Il) are correct | Faer 1) 30T 1) TET &

[Option ID = 3653]



2. Only 1) & 1) are correct / 3Faer 1) 3T 1) 78T &
[Option ID = 3654]

3. Only 111y &) are correct / e I 3T HEdr &
[Option ID = 3655]

4 All 1), 1) and 1) are correct / T8l 1), 1) 37 |10) W8T &
[Option ID = 3656]

Correct Answer :-

* Only 1) & Il) are correct / Faer |) 3 1)) &g &

[Option ID = 3653]
38) Extension oftime of delivery fora depot lot is needed for 55 days from
date of auction due to flooding. As per Modal SOP — 2018 who is
competent authority for extension of delivery time without ground

rent.

I CMM
1] PCMIM
) AGM
N} GM

Which of the following option are comrect.

e % FRoT Bt wic & v Bdel § vag & HSeedr & ol
% 55 2ol & FIT Soer 1 asgEar &) Alse v - 2018 &
FHgaR, W35 (e % e Bellall g9 doe & QU @l waw
gifErEHT 51

1) e
1) dreeATH
) TieH
V) Stos
Teata@d # & &9 o faweq g1 Bl
[Question ID = 915][Question Description = Q38_AMM_PA_NAIRAUG4]
1. QOnly 1) & I1) are correct. | &aer |) 31X 1) G&T &
[Option ID = 3657]
2. Qnly 1), 1) & IV are correct. | et 1), 111} 3 IV TET &1
[Option ID = 3658]
3. Oniy 1) & IV) are comect / thaw 1) HIT V) T8 &1
[Option ID = 3659]
4. Only V) is correct. | shder IV) T8T &1
[Option ID = 3660]
Correct Answer :-
® Only 1) & IV) are correct | Thaa 1) HT (V) T8T EI
[Option ID = 3659]

39) Which para of IRS conditions contract deals with ‘consignees right of
rejection’ / HEHRTH ot F =y & 9 @ W TS F
S & HOER § G §

[Question ID = 916][Question Description = Q39_AMM_PA_NAIRAUG4]

1.

1501

[Option ID = 3661]
2. 1502



[Option ID = 3662]
3. 1503

[Option ID = 3663]
4. 1504

[Option ID = 3664]

Correct Answer :-
® 1502
[Option ID = 3662]

40) As per IRS condition of caontract the clause of Warranty / Guarantee
states- The contractor guarantees goods fora penod of —
Which option is correct
|
ITEY H IEINCH o & IFAN IREVARGT @1 WS Feel b-
SFER - H 3 & e Fne F THE T £
i o1 fadheq Tel &

[Question ID = 917][Question Description = Q40_AMM_PA_NAIRAUGH4]
30 months after delivery or 24 months from date of placement

1. whichever is later / Beligdl & 30 7814 I 1 wigHc &f gl

Tameafiagcdg

[Option ID = 3665]
30 menths after delivery or 24 months from date of placement

2. whichever is sooner / fSellgdl & 30 F2 & IT worlgac &l
ORI § 24 Hg1=1, =t oiF ager &1

[Option ID = 3666]
30 months after delivery or 36 months from date of placement

3. whichever is sooner / fSeliadl & 30 AR &g, AT SolTHAC ol

NG & 236 Hel. T 47 gwer &

[Option ID = 3667]
30 months after delivery or 36 months from date of placement

4. whichever is later / TBoilgll & 30 FElel 9 AT SolaHe ol dleg
Fagme o drag T

[Option ID = 3668]

Correct Answer :- Deleted

41)  AAC of an item is 4560, stock available is 436, covered dues are 635, buffer
stock needed is of 2 months. Intenim penod is 6 months. Calculate net

procurable quantity for the item for contract period of one year. Ush a%d &0
TUHr 4560 &, 3UGEE Teld 436 § ol gHET 635 B, a9 Tie
G 2 AGET T B AR a6 JGT £, U au i ey e
& folu Hsed & folv ey @G g #HEl 6 9= Y

[Question ID = 918][Question Description = Q41_AMM_PA_NAIRAUG4]

1. 6528

[Option ID = 3669]
2. B428

[Option ID = 3670]
3. B626

[Option ID = 3671] _
None of the given options is correct / f&w 10 Gaedl & & a5 o @war

o

[Option ID = 3672]



Correct Answer :-
® B5h29

[Option ID = 3669]

42) Which member of Railway Board is head of Signaling and Telecom
Department. / {18 a5 oI &l= & Heed Gaaicll U gear fasmr &0
UHE Blar 67

[Question ID = 919][Question Description = Q42_AMM_PA_NAIRAUG4]

1. Chairman Railway Board / 3588 Tod a5

[Option ID = 3673]
2. Member (Signal & Telecommunication) / H&ed (FHe=er Ta [AGEEY)

[Option ID = 3674] _
None of the given options is correct. / 6T 71T [dehedl H§ § &1 9T Ter

&l 6l

[Option ID = 3675]
4. Member Infrastructure | He&d Haadar

[Option ID = 3676]

Correct Answer :-
® Member Infrastructure / Te=T Ha&T==l

[Option ID = 3676]

43) Calculate total value of offer for basic price @Rs 200/~ each + Packing 2%,
Freight Rs 18/- each + GST 18% for 150 numbers. | #IT #ed @ 200/-

g + Ufher 2%, ATe gals 16/- Ude + SeEer 18% 150 F{ & faw
T & el #ed H AUE H=)
[Question ID = 920][Question Description = Q43_AMM_PA_NAIRAUG4]
1. Rs 37650
[Option ID = 3677]
2. Rs.38940
[Option ID = 3678]
3 Rs 36560
[Option ID = 3679]
None of the given option is correct / 6T 31T Tdeed! & T &5 off Tar
8§

[Option ID = 3680]

Correct Answer :-
® Rs.38%40
[Option ID = 3678]

44) Transfer of stores from one ward to another ward of same Stores Depot is

mownasfwﬁmmﬁﬁﬁéﬁ@?mﬁ#mﬁw
FI Tl ST &

[Question ID = 921][Question Description = Q44_AMM_PA_NAIRAUG4]
1. Stock transfer / TiF TER
[Option ID = 3681]
2. \Ward transfer / @15 FATHIAOT
[Option ID = 3682]
3. Book transfer { T FA=GOT



[Option ID = 3683]
None of the given options is correct (6T 71T faeedt & & T3 o Ogr

4.
BN
[Option ID = 3684]

Correct Answer :-
® Book transfer [ Geh T
[Option ID = 3683]

45)  Opening Balance of stock in Stores Department on 1= April was Rs 37.5
Crores. Duning the year material worth Rs107 5 Crores was received
Total value of issues during the year was Rs 110 Crores. Calculate TOR

atthe end of year /1 3e &7 w1 Bacde # wis & 3l 30/
37 515 T 1| @Y & gHie 107.5 &R05 98 & el 9o g1 a9
& clte T & &l Hed 110 &5 o9 41| 99 & 3id & d3HBR

&1 AT F
[Question ID = 922][Question Description = Q45_AMM_PA_NAIRAUG4]
1 3275
[Option ID = 3685]
2. 3182
[Option ID = 3686]
3. 3083

[Option ID = 3687]
None of the given options is correct ( 76T 717 Tamedl A & Fio &1

el =61 61
[Option ID = 3688]

Correct Answer :-
¢ 3182
[Option ID = 3686]

46) |n VED analysis 'D' stands for / VED faesioor # 'D' &1 319 &
[Question ID = 923][Question Description = Q46_AMM_PA_NAIRAUG4]
1. Duplicate items / aSiEE$E HiseH

[Option ID = 3689]
2. Dead surplus items / #d 3TE9T FqU

[Option ID = 3690]
3. Desirable tems / ATG= a0

[Option ID = 3691]
Mone of the given options is correct / BT 71T fawear & & @5 o w60

[Option ID = 3692]
Correct Answer :-
® Desirable items / STG=11 a0

[Option ID = 3691]



47) For procurement of Brake Dises for Vande Bharat trains under Make in
India policy, Railway Board has fixed local content for class-| & class-l|

suppliers. Which of the following is correct. / # 5= Sfear =ifg & T&d
d& ad ¢t & fov 9% B & alg & e, wa § o Forg-l 3R
el STfiaeist & o wun aeEl aa & 3 e F @ F
T WA B

[Question ID = 924][Question Description = Q47_AMM_PA_NAIRAUG4]
Minimum lecal content for class-l suppliers is 60% and for class-l
suppliers is fram minimum 30% to less than 60%. / 337 B{HﬁﬁEﬁBﬁ &

A weaw T EE 60% & 3R @Il nafdedist & e wgsan
30% @ 60% T T §

[Option ID = 3693]
Minimum local content for class-l suppliers is 75% and for class-ll

suppliers is from minimum 20% to less than 75%. / @l B{Nﬁ‘lﬁhﬁ =
o e TR areEl 75% & 3R adl s & e wgmaa
20% 3 75% & & Bl

[Option ID = 3694]
Minimum local content for class-1 suppliers is 75% and for class-l|

suppliers is from minimum 50% to less than 75%. / @3- HTqrﬁﬂaT-I‘ﬁﬁ +
AT waaw e el 75% 8 3R @l Agfdedni & R SgeaE
50% & 75% & &H &l

[Option ID = 3695]
Minimum local content for class-| suppliers is 90% and for class-l!

suppliers is from minimum 50% to less than 90%. / AL 3¥Nﬁﬁﬁ31'i’ 0
fore sgeroe Tl At 90% & 3R & smafdead & T sgwas
50% ¥ 90% & & B

[Option ID = 3696]

Correct Answer :-
Minimum local content for class-l suppliers is 75% and for class-l|

suppliers is from minimum 50% to less than 75%. / GEif Sﬂq[ﬁ?flhﬁ &
’ AT wgeAa Tl e 75% 3R a1l Sgfdedia & v egeaa

50% 3 75% & FH Bl

[Option ID = 3695]

48) ‘What is target for sale of total value of scrap for Indian Railway in year 2024
25 /¥ 2024-25F ANAT @ & U THU & Fo Fed A G &

WET R

[Question ID = 925][Question Description = Q48_AMM_PA_NAIRAUG4]
1. Rs 5200 Cr

[Option ID = 3697]
2. Rs5400Cr

[Option ID = 3698]
3. Rs 5600 Cr

[Option ID = 3699]
4. Rs 5800 Cr

[Option ID = 3700]
Correct Answer :-
® Rs 5400 Cr
[Option ID = 3698]



49) Which class of digital signature is required by the officer to digitally sign
tender committee proceedings / Efaer @ fr aaE W Bieew
FEOER & & fow AR & T A4 & Bieca gromr &
RIS Bl 572

[Question ID = 926][Question Description = Q49_AMM_PA_NAIRAUG4]

1. Class-| /@31

[Option ID = 3701]

2. Class-| / @l

[Option ID = 3702]
3. Class-lI f @@l

[Option ID = 3703]
4. Class-IV [TV

[Option ID = 3704]
Correct Answer :-
® Class-II / &@r-ll
[Option ID = 3703]

50) Please read following statements about Stores budget
[} August Review for the current year is sent along with Budget Estimate
for the next year.
II) November Review of current year is sent along with Revised Estimate
of next year)|

Which of the following option are correct.

FUAT TR dole & dN # Heaieli@ HU 98l

1) =Te, T T IETET WA I Y & ae FA & W el A
&l

) =] a¥ & Adav wET e a9 & GAHT g & e el
Sl &

TarafafEa & O == ar AeeT T &1
[Question ID = 927][Question Description = Q50_AMM_PA_NAIRAUG4]
1. Only | is comect / thder | G&T &
[Option ID = 3705]
2. Only |l is comrect / Shael || W8T &
[Option ID = 3706]
3. Both | & Il are correct / | 3R 11 g1 @81 &
[Option ID = 3707]
4. Both| & |l are incorrect / | #R || =1 T d £
[Option ID = 3708]
Correct Answer :-
® Both| &l are incorrect/ | F || €11 F6id &
[Option ID = 3708]

51)  For import of material which mode of shipment is most suitable for seller? /

FEd F 3Ea & o faea F v A @ i @ aie =y
ITTE &l

[Question ID = 928][Question Description = Q51_AMM_PA_NAIRAUG4]
1. FOB | usafEl



[Option ID = 3709]

2. Ex-Works | Te-aay
[Option ID = 3710]

3. C&F /@ va w

[Option ID = 3711]
None of the given options is correct. / 187 71T doedt & & &5 @7

e 6 Bl
[Option ID = 3712]
Correct Answer :-
®  Ex-Works | TeRa-dad
[Option ID = 3710]

52) SAMBANDH portal of Mimistry of MSMEs deals with which of the following.
| THUHUAS HAET F Fad Ulied Hedtaiad & § Geg 96d g

[Question ID = 929][Question Description = Q52_AMM_PA_NAIRAUG4]

1 Monitoring of delayed payments to MSMEs. / TATHEAS # fadfad

ST i IR |

[Option ID = 3713]
Registration of MSMEs with Public Sector undertakings. / @) TET=i

89 & 3UFH & Ty UTHUHUAS &1 G 16{o]

[Option ID = 3714]
Co-ordination of MSE issues with Central Government. | theg A4

& Y THUES Hegl & GHead|

[Option ID = 3715]
None of the given options is correct { 2T 7w fdedl & & F15 off

eI o8l Bl
[Option ID = 3716]

Correct Answer :-

None of the given options is correct / 2T a7 fasedt & & &5 &1
L]
el Aol B

[Option ID = 3716]

53) Full Name of COFMOW is- | =T T T B

[Question ID = 930][Question Description = Q53_AMM_PA_NAIRAUG4]
Mone: of the given options is correct. | BT 910 Tawedl & & &5 o

I

[Option ID = 3717]
Central Organization for Modemization of Workshops. / TR

STEfTeTRIET el HaTe=T |

[Option ID = 3718]

Central Office for Movement of Wagons. / S ARl doid
Eapisel

[Option ID = 3719]
4. Centre of Freight Movement of Wagons. / 831 #lel gells &g

[Option ID = 3720]

Correct Answer :-



Central Organization for Modemization of Workshops. / TR
STELfERIERIOT Ha Hare|

[Option ID = 3718]

54) How many items are reserved exclusively for procurement from Iicro &

Small Enterprise. / §&H 3R oY 35EH § wlig ¥ v @9y wv @
[EGEUGEE R
[Question ID = 931][Question Description = Q54_AMM_PA_NAIRAUG4]
1. 35
[Option ID = 3721]
2. 358
[Option ID = 3722]
3. 368
[Option ID = 3723]
4. 378
[Option ID = 3724]
Correct Answer :-
® 358
[Option ID = 3722]

55) Imported offers in a global tender in foreign currency shall be converted
into Indian currency at the official rate of / Tageli #ar # 3¥as Fifder 7

e o @ HEERE o N SRR J # aRafdd G
ST

[Question ID = 932][Question Description = Q55_AMM_PA_NAIRAUG4]
B.C. selling rate on date of opening of tender. / d1.&1. fdear @erer &1

1.
O W WET &1

[Option ID = 3725]
B.C. buying rate on date of opening of tender. / 1. 41, F=ifdgr geier &I

o W & &

[Option ID = 3726]
T.T. selling rate on date of opening of tender. / feifagr gerer &1 A

o &8, T e

[Option ID = 3727]
T.T. buying rate on date of opening of tender / f=1fdeT e &7 fafer

R i i |
[Option ID = 3728]

Correct Answer :-
B.C. selling rate on date of opening of tender. / d1.&1. fdar @erer #r
Al oy e 2v

[Option ID = 3725]

56) Adepothas stock of an item of 1500 number at unit rate of Rs 225=00.
Fresh supplies of 500 numbers are received at unit rate of Rs 250=00.

At what rate now issues of material will be debited / Ts 891 # 225=00
TOI T SRS o W 1500 Faw FT I Tl 51 500 HGRT R =
3Mfe 250=00 T &I 5575 &1 W Ied Bicl &1 3 T a0 0w
& Hegl W s far s

[Question ID = 933][Question Description = Q56_AMM_PA_NAIRAUG4]



1. Rs231.25/231.25%494
[Option ID = 3729]

2. Rs230.75/230.75 %94
[Option ID = 3730]

3. Rs 2325023250 99

[Option ID = 3731] o
None of the given options is correct / 6T @0 A&t # I &5 #r

T 8T &l
[Option ID = 3732]
Correct Answer :-
® Rs231.25/231.25 %44

[Option ID = 3729]

57) At least how mtich shelf life should be available for shelf-ife item while
being received in Stores Depot. / FoIX 397 # uId e W Ie6h-o5%

HiseH & o0 &7 T A Tha=! 90T oot 39FeY il aiegl
[Question ID = 934][Question Description = Q57_AMM_PA_NAIRAUG4]
1. 50%

[Option ID = 3733]
2. 75%

[Option ID = 3734]
3. gpos

[Option ID = 3735]
4. 100%

[Option ID = 3736]
Correct Answer :-

® 75%

[Option ID = 3734]

58) In term of MSME development act the percentage of net procurable quantity
reserved 1o be procured from women owned and SC/ST owned MSEs

respectively (if quoted rate of MSE is within L-1 + 15%) is / TATIUAS [ag
e & odl & e Affon’ & e aer 3iv codread &
A aror tHTES § @ls & v 3T wey wlig 35y A &
gfaera (Afe tATHS $ 3gUd of Tl 1+ 15% & Aaw ) &
[Question ID = 935][Question Description = Q58_AMM_PA_NAIRAUG4]
4% gquaniity from women owned MSEs & 5% guantity from SC/ST
1. owned MSEs. | Afga3ft & Taiffca arer oATHs I 4% A 3R
THHI/THLT & TdiiHAcd drel THTHS & 5%amr||

[Option ID = 3737]
3% quantity from women owned MSEs & 4% guantity from SC/ST

2. owned MSEs. / ARoHT & Toiifcd dror UHUES & 2% AT HE
vHdlTESl & TiiH ar THTES O 4% HE

[Option ID = 3738]
4% quantity from women owned MSEs & 3% quantity from SC/ST

3. owned MSEs [ AGensT & Tifdicd @el TATHS O 4% AT 3R
THONUEET o FaliHcd dlel TAVES I 3% HE0

[Option ID = 3739] _
None of the given options is correct / BT a1 fa&edt & & F15 off @ar

6l 8l



[Option ID = 3740]

Correct Answer :-
3% quantity from women owned MSEs & 4% guantity from SC/ST

o owned MSEs. / Aifgensi & Toifficd der THUES ¥ 3% AT AR
vHdlTESl & TaIiHE A THTES O 4% HE

[Option ID = 3738]

59)  Who is competent authority for reviewing & circulating PVC formula for all
wagon items. / Tl &1 ISeAr & T SR s & e 3R

TR T T8 wifkEnr i 27
[Question ID = 936][Question Description = Q59_AMM_PA_NAIRAUG4]
1. RDSO / 3WSTET

[Option ID = 3741]
2. Northern Railway / 3¢ Ioid

[Option ID = 3742]
3. South Central Railway / Ef&T Hear Tela

[Option ID = 3743]
4. Central Railway | 720 Idd

[Option ID = 3744]

Correct Answer :-

¢ Northern Railway / 3t Toid
[Option ID = 3742]

60) Please read list of following items carefully.

[ HS Lamp
I} Galvanized Iron body padlocks 40mm
[y M.S. chain

) Wooden Wedge
Which of the following option is correct

P WA T & S 9
I) TE.0E. a

II) feaeses 3TaRe Sier dsais 40 EEr

) TA.TE. S

IV) FERET @ a5t
Fra@a F ¥ #iF @ Gwew ofr &

[Question ID = 937][Question Description = Q60_AMM_PA_NAIRAUG4]
1. Only I, | & Il are safety items. [ &der |, I HT Il FIET T50C &1

[Option ID = 3745]
2. Only I, NI & IV are safety items. / et |1, 11l 3R 1V T&ET a0 21

[Option ID = 3746]
3. Only Ill, IV & | are safety items. / &det Il IV 3T | §L&T a&qv &l

[Option ID = 3747]
4 AL L & IV are safety items. /8T 1, 11, I 31T 1V & 60 &

[Option ID = 3748]

Correct Answer :- Deleted

61) What is full form of LHB Coaches. / TelUgdl &=l & Hel Bie F7 57

[Question ID = 938][Question Description = Q61_AMM_PA_NAIRAUG4]



1. Linde Henry Bullwan Coaches / o8 &=l gefar= &

[Option ID = 3749]
2. | inke Hafmann Busch Coaches. / ol §TH#sT g7 FIe|

[Option ID = 3750]
Lyall Hunter Barrett Coaches / ?T0d §ed &3 &I

[Option ID = 3751]
4. Lagan Harvey Bryson Coaches / @0 BId g8 @i

[Option ID = 3752]

w

Correct Answer :-

® Linke Hafmann Busch Coaches. / fefés g% 997 Fl]

[Option ID = 3750]

62) Where RMPU is used, / RUALIY 1 ITA0T &gl ToHIT ST &
[Question ID = 939][Question Description = Q62_AMM_PA_NAIRAUG4]
1 LHB Coaches / Ta=dl &=

[Option ID = 3753]
2. Electrical Locos / fdegd @iet

[Option ID = 3754]
3. Wagons / d9H

[Option ID = 3755]
4. Tower Cars / Zla¥ HIY

[Option ID = 3756]

Correct Answer :-
® |HB Coaches / Tdugdl il
[Option ID = 3753]

63) As per Modal SOP — 2018 powers of extension of time for removal of rejected
materials and waiver of ground rent charges thereon for Dy CMM/Depot

without finance concurrence is / AIse THIYT - 2018 & 0N fdd edia
& o= 39 divawA/Sd & v siedied @kl & Gee & ot ga5g
& Tavar 3R 30 W oA BRrar gew & ge & afFaar 5

[Question ID = 940][Question Description = Q63_AMM_PA_NAIRAUG4]

1. Rs 500=00 / 500=00 T

[Option ID = 3757]
2. Rs 5000=00 / 5000=00 T94

[Option ID = 3758]
3. Rs 50,000=00 / 50,000=00 T9&

[Option ID = 3759]
4. Rs 5,00,000=00 / 5,00,000=00 T3

[Option ID = 3760]
Correct Answer :-
® Rs 50,000=00 / 50,000=00 T

[Option ID = 3759]



64) As per Modal SOP - 2018 powers of acceptance of payment in respect of
matenals revealed in excess of the advertised quantity in auction / tender
Sales at the time when delivery is in progress.

I} PCMM/CMM — full powers.

I} Dy CMM (Purchase office) / SMM (Purchase office) — upto Rs 1 Lakh
with finance concurrence.

III) Depot officer to accept payment at the rate already decided upto
maximum of 10% of total quantity of lot without finance concurrence.
Which of the following options is comect

Hisol TN - 2018 & HeaR dAronAi=taer @b A faaria Amr g

3ifee Al F Ta 7 SEae TSR S S AEad], 36 §HT Sl
fSeiadr =rer Y& &

l) drfrErTHER AT - qoT arfdca

) BBty sirwwrew (wiie swliem) [ vovaes (@lie wEe) - fag asafa
& Ay 1 ¥g F93 dh|

i) Bt s#fEenT foa weafd & f&ar dic & &0 & & HJEads 10%
7% 95l § 79 o1 U STl T S|
Seioi@d @ & &l o1 EweT @ Bl

[Question ID = 941][Question Description = Q64_AMM_PA_NAIRAUG4]
1. Only | &1l is correct. / &aer | & Il @& &

[Option ID = 3761]

2. Only |l is comrect. { Faor 11 TET &1
[Option ID = 3762]

3. Only Il is comrect / &aa Il GET &1

[Option ID = 3763]
Mone of the given options is correct / |GT 71T foeedt & 4 #i5 o

el &6l &

[Option ID = 3764]

Correct Answer :-

®  Only lll is correct / &ad Il @67 81
[Option ID = 3763]

65)  Read following statements for Make in India policy. Which of the following
option is incorrect. | AF 597 SlE97 Aifd & T F=wEa #99 946)

Teafafag § @ a9 ar AeeT g Bl

[Question ID = 942][Question Description = Q65_AMM_PA_NAIRAUG4]
The administrative ministries / Departments shall grant only tender

1. specific exemption. / SRIMfes Ao/ fasmT haer ider fARee o
g S

[Option ID = 3765]
Exemption granted shall remain valid for a period of 1 year. /1 715 oC

1 g & A F P d e

[Option ID = 3766]
If the same item is procured again within one year, fresh approval of

3. Minister Incharge is not required. / af¢, @81 avq t& a¥ & #fiat alanT
Qe Sar &, o vl FA 7 75 Al S INEaEar 60 6

[Option ID = 3767]



If any Ministry intends to grant exemption beyond a period of 1 year, it
can do so only with prior approval of Minister Incharge for upto maximum

4. of 3years./ A FIS FHAerd 1a9 H T & HEF T & 1 KgT
@ &, o @6 fOean 3 ad g gl #A i 9d Ay $ wy A
T I Tl B
[Option ID = 3768]

Correct Answer :-

If any Ministry intends to grant exemption beyond a period of 1 year, it
can do so only with prior approval of Minister Incharge for upto maximum

o of3years./ Afe S Ao 1 a9 I afe § e ge &4 & sl
@ &, o @6 fawan 3 adl & gl #A i od Al & wy i
T T Tl B

[Option ID = 3768]

66) For applicability of Make in India policy in tenders, where confracts are to be
placed on multiple bidders, if sufficient local capacity is not available.

Iy Ifthe Class-l local suppliers qualify for award of contract for at least 50%

of the tendered quantity, the contract may be given to the Class-| |ocal
suppliers as per the tender criteria.
Ity If the Class-| local suppliers do not qualify for award of contract for at least

50% of the tendered quantity, purchase preference should be given to

the Class-l local supplier as per the policy to ensure that [t may be
ensured that Class-| local suppliers in total are considered for at least

50% of the tender quantity.
Which of the following oplions is correct.

fafaen # A+ o= 5B AfF & weaa § v, ag =g e
BT 3UFST 6T B O, 5 Aellgars UX e I8 S G
1) A Al % Ty safdedr faer & 715 A & FH F &4 50%
& TolU 3ejay &7 & folv 3i6ar ured &id 8, o f=fder Aegs] & T
sigaer Aofi| & TurEie sqfdwat = Bar o a5 8
i)y afe 4ot & vuela smafdedr @fEer & @8 7 F &7 7 7 50%
¥ fow ey & & v arer o =7 W £ I §ERET w
& e AT & FeR Aol & e sgided S alie s
& e TR we e Al & e s @ e A
F FH ¥ FH 50% F fov far G s g
farafaiag § ¥ &9 o1 Geeg T35 &
[Question ID = 943][Question Description = Q66_AMM_PA_NAIRAUG4]
1. Only | is correct / &del | T 81

[Option ID = 3769]
2. Only llis correct / @adl |l 98I 31

[Option ID = 3770]
3. Both | & Il are correct. / | 33T 1| =T @87 &1

[Option ID = 3771]
4. Both | & Il are incorrect /| | 3T || 2T 19T &)

[Option ID = 3772]

Correct Answer :-

o Both | & Il are comect. / | 3T | E=T GET §1

[Option ID = 3771]



67) Inatendercase following bids are obtained. / U @Tder AFer & HFafeiad
aiferal wred & S §

Name | Rate | Ranking| Status
of bidder

A 100 L-1 MNon MSE non class-| local supplier
B 110 L-2 Non MSE but class-| local supplier

Cc 112 L-3 MSE but non class-l local supplier

D 116 L4 Non MSE but class-| local supplier

E 118 L-5 MSE but non class-| local supplier

F 120 L-6 MSE but class-| local suppliers

Which of the following option is correct

sk fder A § BT el gg & S f

T TR x| g | =i
dlel &1 =1
T 100 | gorq | womd # 4oh wuEid
et
& M0 | ooz | R wormes afe A0 wuRi
Kl IGEm
Hr 112 | oes | vued afta T 4of1 ey
gt
& 116 | o4 | iy waued afda Ao sty
Tt
£ 18 | ve5 | veed aft R A0in) sty
BN IEEm
ury 120 | oo | vATES o AT TuEy
E b iREn
FAeARifEa # § &I 91 fdFeg 9o 5.

[Question ID = 944][Question Description = Q67_AMM_PA_NAIRAUG4]
First issue counter offer to B at the quoted rate of A for 50% quantity,
as B is lowest class-| supplier within price preference range of Make

_in India policy. / 50% #AT & f&T € & 3gyd &7 o¥ & @ gpen
FI3CT I S W, T & AF 577 5B A Fr 7w alfgar
e & offeR Tad & Avie | amafdedr 8

[Option ID = 3773]
First issue counter offer ta © at the rate of A for 25% quantity, as C is
the lowest MSE within price preference range of MSE policy. / 25%

2 @ & faw U F e WA 7 uger #5e e S w5y, i
T wHEES =i & Aed aliwar War & Ao TEd 9 s b

[Option ID = 3774]
First issue counier offer to F at the rate of A for 50% quantity, as F 1s

the lowest MSE and class-| local supplier. / 50% A= & 6 T &7 23
9T UF &l Ugdl HI3ed AT ANl &y, Fdlith Uh Hadl &H THUHES
T Fory- | Furera et 81

[Option ID = 3775] _
Mone of the given options is correct. / 2T 717 ot & & #15 &Y

G

[Option ID = 3776]



Correct Answer :-
First issue counter offer to C at the rate of A for 25% quantity, as C is
the lowest MSE wathin price preference range of MSE policy. / 25%

* @ & U T gy o A # Ugen F15eY AW S &Y, Fie
T THTES il S Aed aliEar e & Aol T 9 s b

[Option ID = 3774]

68) Under Vivad se Vishwas-ll (contractual disputes), the settlement amount
shall be offered to contractors for vanous categories of disputes are/

1) Court award passed before a specified date — 95% of the net amount
awarded, is the seftlement amounti.

Il) Arbitral award passed on or before specified date — 85% of the net
amount awarded is the settlement amount.

Which of the following option is correct

fdare & el ([@iderss Tag) & d5d, A 40 & Gl &

foiT &FeRT & fAges e i Gy $ St

l) FEREeR # U U Ridse A § vee wiRe 3 - 9ae & S
QR AT & 5%, Fder TR &

Il) FrerearT UtERR s [ & ar 3e9 vgd wita e oy - wee
& 15 efEEr AR 85% feruera ufEr g
fraff@d # & &= @ AeeT 98 &

[Question ID = 945][Question Description = Q68_AMM_PA_NAIRAUG4]

- Only | is comrect. { &ael | @&l &1

[Option ID = 3777]
2. Only |l is comect. / &hae |l T&r Bl

[Option ID = 3778]

3. Both| &Il are correct /| 3T || 24T T6T &)

[Option ID = 3779]
4. Both | & llare incorrect. | 31T 1| 2= 19T £

[Option ID = 3780]

Correct Answer :-

® Both | & Il areincomrect. | HT || =T g &1

[Option ID = 3780]

69) Under MSE policy

I} Consortiums of MSE Indian company with Foreign companies
cannot take benefils given to MSEs.
I Joint ventures of Indian MSEs can take benefits given to MSEs.

1] Traders cannot take benefits given to MSEs.
Which of the following options 1s correct:

THTHS difd & ded

) faeeh Fufeml & e USSR F9 1 HEfiaE THeEs &
faw 1w e =67 o WendT §l

Il) ST THUES & H39d 36aH UAUHS & 16U AT & o 96 6

) =T TATHS & 8T 917 o =61 of 99l
Setei@g 7 & Ffa a1 TeeT a8 8.

[Question ID = 946][Question Description = Q69_AMM_PA_NAIRAUG4]
1. Only | & 1| are correct. / hael | 3 11 TET &)

[Option ID = 3781]



2. Qnly Il & Il are correct / Thaa 1 3R 1 T8T &)

[Option ID = 3782]
3. Only Il & | are correct / el 11l 3T 178 &1

[Option ID = 3783]

4. AllI 1 & Il are correct / T8l |, 13RIl W8T &)
[Option ID = 3784]

Correct Answer :-

® Only Il & | are correct / hae 11l ¥R 18T §1

[Option ID = 3783]

70)  Which of the following is incorrect for MSE policy, / THUES Affd & fRlT
fwTeiEga F & a9 T 2

[Question ID = 947][Question Description = Q70_AMM_PA_NAIRAUG4]
This policy is applicable for all government procurement ie. Goods,

1. Services & Works. / g #ifd @il S @l I= &, dani 3R
Tt & g
[Option ID = 3785]

If quantity is only 1 and cannot be divided, full quantity is to be given to
MSE guoted under L-1 rate +15% at counter offer rate of L-1. (e #mEr

haer 1§ 3R fastera 6T foar s Tear &, o T A -1 ER +15%
& TFd 3cUd UATHS & Te-1 & 3l 30 &7 T &1 =0 6l

[Option ID = 3786]
Benefit of SCIST MSE will only be given if SC/ST partners of company

hold at least 51% share in the unit. / THRITHET TATHS &1 o9 hdel
el f&ar Suen S Fuel & veel/ewd AelieRt F U S A &
# & 51% e &

[Option ID = 3787]
If subcontract is given to MSEs, it will be considered as procurement from

4. MSEs. I TATHS FT IUSH ar oar & 37 53 vAves & wlig A
ST |
[Option ID = 3788]

Correct Answer :-

This policy s applicable for all government procurement ie. Goods,

o Services & Works. / 7 =ifg @l Suwrll @lie o= @@, JaEi 3k
FEt & g 8

[Option ID = 3785]



71) As per Stores shield crteria for coverage of Non-Stock demands within 6
maonths (% of demands covered in 6 months).

1} Full marks for achieving non stock demand coverage of 80% and
above.. Above 80%, one bonus marks for every 1% increase. Below
80%, reduction of 1 mark for every 1% reduction.

)] Mo marks for achieving below 50%.

Which of the following option is correct.

6 #ET & i A-Feid ARl & Al F v WY Aies Aees & HGHN
(6 #E 3 e 1 7 A B!

) 80% IR 3T A & MwF A7 Fala g &4 F e Oor
31 80% W I, TS 1% Fof & foU @ di 3% 80% ¥ =i,
UAE 1% FHF & Tolw 1 3F & FHA0

1) 50% ¥ & 3Heh At Ft=l I DI b A6i|

Feafeif@a 7 & &l @ [dweT ! 6.

[Question ID = 948][Question Description = Q71_AMM_PA_NAIRAUG4]
1. Only | is correct / Fad | Hel &1

[Option ID = 3789]
2. Qnly |l is correct, [ oae || TET &

[Option ID = 3790]
3. Both | & Il are correct. / | 31T 1| €= |Er &)

[Option ID = 3791]
4. Both | & || are incorrect /| 31T 11 291 7o &1

[Option ID = 3792]

Correct Answer :-

® Only Il is correct, | Fad || T8I &

[Option ID = 3790]

72) ‘When only one offer is received against Limited Tender, what is normal course of

action. / 5@ HitAd e & Td¥ey Fad UF 6 9&dd 9I0d BidT 6, ol AEET
Friamr &= 87

[Question ID = 949][Question Description = Q72_AMM_PA_NAIRAUG4]
Offer could be accepted with approval of one grade higher officer if rates are

1. reasonable. / I &Y 34 & oI 9FaIT UF 915 3t AGUHERT & HHias
& THER T ST Hewar £

[Option ID = 3793]
Oiffer could be accepted if offer is from past supplier and rate 1= reasonable. /

2. fg Wond [Weer agfdear F § 3 et 3T § o o S Ear s
gehell B

[Option ID = 3794]
Tender is to be dropped and open tender is to be floated. / F=fder BB S=1

% 3 g e S & S B

[Option ID = 3795]
None of the given options is comrect. / 6T 71T Tawedr 51 I &5 s Tor a1

&l

[Option ID = 3796]

4.

Correct Answer :- Deleted



73) As per ‘Manual for Procurement of Goods' issued by Ministry of Finance- At the
apex of the statufory framework, goveming public procurement is Article

of the constitution. { faw FATeRT Z@RT ST &1 &7 TG F AT AT & FFaR-
dues @ § i W, Gaeee @G $ Harad o Aaue § A0
&l

[Question ID = 950][Question Description = Q73_AMM_PA_NAIRAUG4]
1. Article 209/ 3eTeisg 299

[Option ID = 3797]
2. Article 320 / 3Tt 320

[Option ID = 3798]
3. Article 388/ Hﬂaﬁ'ﬁf 388

[Option ID = 3799]
4. Article 257 / Hﬂ?ﬁc{ 257

[Option ID = 3800]

Correct Answer :-

® Article 299/ 3f=T=iig 299
[Option ID = 3797]

74) As per ‘Manual for Procurement of Goods' issued by Ministry of Finance. The
term ‘Goods' used in this manual includes:

l) Software

I}y Books & periodicals

1) Live stock

V) Air craft

Which of the following option is correct

% #Are g S A B TG & T A 5 IEER| 56 HSH

# 9T HIS e A WAA B

) HiFeaaT

Il) T Td gfEae

111) TerereT

IV) argam=

HeaieiEa & & &l @7 TaFey 960 &,
[Question ID = 951][Question Description = Q74_AMM_PA_NAIRAUG4]
Only | & Il are included in the term 'Goods' used in the ‘Manual ' / Hefarer &
gaT AT 2 3 Hael | AR 1 afder §)

1.

[Option ID = 3801]
Only |l & lll-are included in the term 'Goods' used in this ‘Manual.'/ 59 'ﬂﬂ&iﬂ‘

# UgEd A g F Fae || HT ) wfEe £

[Option ID = 3802]
Only Il & IV are included in the term ‘Goods' used in this ‘Manual ' |/ 58

3.
A H wad A oeg 7 Fad 113X v e &
[Option ID = 3803]
4 Only Il & IV are included in the term 'Goods’ used in this 'Manual.' 59 ’ﬂﬂ?ﬂﬂ‘

# T I Aeg & A | 3R IV A &)
[Option ID = 3804]

Correct Answer :- Deleted



75)  As per 'Manual for Frocurement of Goeds’ debarment of a firm by a single
ministry can be up to maximum of —/ ‘Al H Wle F FIT ATl § =N

el ve Farera canr ol o W sfheas der e 8 s S e
E=

[Question ID = 952][Question Description = Q75_AMM_PA_NAIRAUG4]

1. One year/ U a9

[Option ID = 3805]
2. Two years /gl |Td

[Option ID = 3806]
3. Three years / d=T a9

[Option ID = 3807] _
None of the given options is correct, / 6T 17 Gaedl 37 F =i off T87

el Bl

[Option ID = 3808]
Correct Answer :-
® Two years/ gl 9Tel

[Option ID = 3806]

76)  Which rule of GFR-2017 deals with procurement of all handlcom textiles for
exclusive purchase from KVIC and ( or AGASH. / SiTTH3C-2017 & Hie @r

T FAEaT HYAT ACASH (HenEn & 99w wlig & e el syt
=il f Wle & gafd §

[Question ID = 953][Question Description = Q76_AMM_PA_NAIRAUG4]

1. Rule 149 / 58 149

[Option ID = 3809]

2. Rule153/f5a#H 153
[Option ID = 3810]

3. Rule 156/ fzeT 156

[Option ID = 3811]
None of the given options is correct | f&T 710 faeedl & & F15 & Tgr

4.

el £l

[Option ID = 3812]
Correct Answer :-
® Rule 153/ =a# 153

[Option ID = 3810]

77)  Which rule of GFR-2017 mandates it mandatory for Ministries/Department
to. receive all bids through e-procurement poral in respect of all

procurement. / STURHR-2017 & #iF & oo Famafasmt & B
e @i & T & S-wmlic dite & Aeas & oo e ang &
3fferary §eeT &

[Question ID = 954][Question Description = Q77_AMM_PA_NAIRAUG4]

1. Rule 156 / %1 156

[Option ID = 3813]
2. Rule 160/ 5@ 160

[Option ID = 3814]
3. Rule 183/ f=g# 183

[Option ID = 3815]



4. Rule 207/ 5= 207
[Option ID = 3816]

Correct Answer :-

® Rule 160/ &z 160

[Option ID = 3814]

78) As per GFR-2017 please read following statements carefully.

1) In two bid system financial bids are received after evaluation of
technical bid.
)] In two stage bidding, technical and financial bids are received
simultaneously.
Which of the fellowing is cormrect.
SITHR-2017 & ARSI Rl &Y= & <a=dds T6l
1) & dielr Somelr & faxia difoal deeier diell & #Hodihe & dlg 9t
& ST &
1) & =uT &7 el F, dd=enl 3R Tada i@t e gy areg & Sidn
gl
A e AT T

[Question ID = 955][Question Description = Q78_AMM_PA_NAIRAUG4]
1. Only | is correct. / thael | TET &1

[Option ID = 3817]
2. Only |l is correct. / &ad || T8T &

[Option ID = 3818]
3. Both ! &l are comect. / | 1T || S TRT &)

[Option ID = 3819]
4. Both | & Il are incorrect. / | 31T || ST el 6l

[Option ID = 3820]
Correct Answer :-
® Both | & llare incorrect. / | 3T 1| €T 716l &1

[Option ID = 3820]

79) Inatender case with splitting clause, quantity is to be distributed among three
sources. If rates of all three firms are within 3%, what i1s the distnbution of

quantity_ / o= Ws arer f=fder Aeer 3, &3 & o @idl & ad [adid
o s &1 afe 3 wat & 2T 3% & diaw £ ar | & o &=
&7

[Question ID = 956][Question Description = Q79_AMM_PA_NAIRAUG4]

1. 522919

[Option ID = 3821]
2. AT-32:1

[Option ID = 3822]
3. 453327

[Option ID = 3823]
Mone of the given options is correct. / BT 7T TWeedf § ¥ i o T@gr

Ter &l

[Option ID = 3824]

Correct Answer :-
¢ 47-32:21



[Option ID = 3822]

80) The objectives of the material management function in the Indian Railways are

as follows.

1) To maintain uninterrupted supplies and quality of matenals in time, at
nunimum cost.

1)} To release the working capital for more useful purpose, by efficient.

inveniory control. ]

1y To prevent losses to the government due to deterioration of matenal.

Which of the following is comect.

SIRAM (oid # T aeE & & 36eeT 59 Ua A

) T W W, 9E W, G & e angfd sRoeEer a|w
=T

I1) erer gedel FrEoT gary wRrle gofr & Hife 3wl 3589 & A
ST T

1) Sl & WU Gl & HIR F gl arel e &l e |

P ATFT T

[Question ID = 957][Question Description = Q80_AMM_PA_NAIRAUG4]
1. Only | is comect. | Fael | 8T &l

[Option ID = 3825]
2. Only | & Il are correct. / Faar | 3 || T&T &

[Option ID = 3826]
3. Only | & lll-are correct. / @aer | 3 111 T8 &)

[Option ID = 3827]

4. Al 1l and 11l are correct. / =87 |, 11 3T 110 @8T §1

[Option ID = 3828]

Correct Answer :-

® Al Il and Il are correct. /G 1, 11 38T 110 G987 &1

[Option ID = 3828]

81) Ina tender case of JAG level, after signing of Tender Committee minutes by
3 committee members, case is put up to CMM for acceptance. But CMM is
transferred and Dy CMM who was canvener of TC I1s promoted as CMM

What action is to be taken for acceptance of TC minutes. | 0=l ¥ & U
fefaer A@er &, 3 9T gewl can Afaer afafa & Hach o semei
T & dIe, A T A & [T SATH F 9 @l S § e
HITATA & TAEIOT B T 3R 30 deAvA, S O & gaes O &
HITATA & 7 7 Gele=ic [ar am@m §) &l Feed i iefd & oo
T HRAls B AR

[Question ID = 958][Question Description = Q81_AMM_PA_NAIRAUG4]
As now Dy CMM has been promoted as CMM, he will accept TC

1. recommendations JEi.j-ﬁ? 3d B divava @ dvava & ' Od
TeleetT T R & g o & il & e w39

[Option ID = 3829]
As he was TC member, he should not accept the case as CMM & put up:

the case for acceptance to PCMM ﬁf\ﬁﬂ'ﬁ’ R TWETT or, suiew 39
el @ WITAUA & &9 # ThieR Ag] &del diipl A JAF @l
drdreATA & GHeT Tdidid & T 3@ AR

[Option ID = 3830]
Tender case is to be retendered. / [={dgT A &1 glaT 9o fobar

A= B



[Option ID = 3831]
Tender case is to be given back to new Dy CMM for fresh Tender
4. committes recommendations. /| =5 =idar 9T & BwieEl & G

faer Ty & siv B8 Ao & g TEr e B
[Option ID = 3832]

Correct Answer :-
As he was TC member, he should not accept the case as CMM & put up:

the case for acceptance to PCMM. / =ife a5 €T Heeg o1, 5HieY 38
el @ AICAUA & T # iR =6 odel diipq 3N A @
drefivATA & FHeT FiEd % BT [@Er @i

[Option ID = 3830]

82) Inatender case validity of offers is up to 30.08.2024. After decision of case
letter of acceptance isissued. It will be a binding confract

Iy If LOA is dispaiched by registered post on 30.08 2024 even though
recelved by firm on 07.09.2024.
Iy Only if LOA is received by firm before 30.08.2024 by reqgistered post.
1) If LOA is sent by email on 30 082024 even though received by firm
after 30.08.2024.
Which of the following options are comect.

fSfaer Awer & ey & dear 30.08.2024 d& B @A & WU & dg
TAiBid OF S 4T STl &1 96 U aredesidl f=jael gram

1) I Te3T 30.08.2024 FT Gsiiha ST @I ST Sl &, 56T 61 Bé
AN 07.09.2024 &I 9o {531 91340 B
II) &haer Jefr Fd TEAHIC 9SiGd S call 30.08.2024 § 9go BH &l
ured &l
Iy =g TersiT 30.08.2024 St SHel oy ST ST &, 8707 67 BH 2|l
30.08.2024 & TG Wred fohaT 71T G

Prafaf@a & & o= o Rees w8 &

[Question ID = 959][Question Description = Q82_AMM_PA_NAIRAUG4]
1. Only |l is correct. / shael || T8T &1

[Option ID = 3833]
2. Only Il & 1l are correct. / shaer 1| HT INTET &

[Option ID = 3834]

3. Only Il & | are correct / &aer || 3% | T8 &
[Option ID = 3835]

4 Al 1L & Nll-are correct. / T2 |, I13R 111 T8 &)
[Option ID = 3836]

Correct Answer :- Deleted

83) As per ‘Manual for procurement of Goods' an automobile is to be procured
through Gem. What action is to be taken. / #Hiel & @lig & fov Hel3ter &

FER U HCAGST & 9 & dems & @l o §| 7 FRars &
B

[Question ID = 960][Question Description = Q83_AMM_PA_NAIRAUG4]
Automobile can be purchased through any of the available supplier on
Gem through direct purchase up to limit of Rs 10 lakhs. / ic#Hesa &

S 9¥ 3veey faR off st & A 10 oRg w9 A el
Wilg & aad ¥ @5l S G@6dr ol



[Option ID = 3837]
Automobile can be purchased through any of the available supplier on

Gem through direct purchase up to limit of Rs 20 lakhs / HiEHEE &l
| o W 3wy (T it smfdeal & A & 20 A T & Al
Tl & ATH F Ger 9 T o

[Option ID = 3838]
Automobile can be purchased through any of the available supplier on

Gem through direct pirchase up to limit of Rs 30 lakhs. / HicHEsA @i
ST W 3uere faer off Imafedr & ArEE 30 arE TR & A
Tl & ArTA F @lier 5 G g

[Option ID = 3839]
None of the given options is correct. / 2T 17 fasedl & I F13 8 @er

Tl Bl

[Option ID = 3840]

Correct Answer :- Deleted

84) Please read following Incoterms.
1) FAS - Freight is paid by seller.
I}  CPT - Freightis paid by buyer.
i) DAP - Buyer takes responsibility from an intermediate point onwards.
Which of the following options is correct

FRIT BTl SR 0|

1) CRUT - AT gells & HIE faghar g fekar e §
1) e - Aol geTs &1 HIA WG gaRT A S G
111y Sred - AT Feadt g § 30 & S o ¢
fefaif@d & & S @1 fdweT T8 &.

[Question ID = 961][Question Description = Q84_AMM_PA_NAIRAUG4]
1. Only | is correct. / Fad | Hal &1

[Option ID = 3841] _

2. Only Il & Il are correct. / aer || 3T 111 8T &1
[Option ID = 3842]

3. Only Il is correct. / Faer 11| T&T &1
[Option ID = 3843]

4. Al Il and lll are incorrect. / T8 1, 11 3% 1l 7Teia §1
[Option ID = 3844]

Correct Answer :-

® Alll Il and lll are incomrect. / |81 |, 11 3% Il 71 &1

[Option ID = 3844]

85) As per 'Manual for procurement of consultancy and other services' period of
contract for housekeeping services normally should not exceed X' and
extension of contract permissible is up to maximum of Y". Value of X & Y are

a3 3w danh & ol & v A FeR sEahitr Jani
& T sraer T af WART T F TRT I WG T8 g =ee 3R
Ay & SR dfwas s o e B R iR g W oA |
[Question ID = 962][Question Description = Q85_AMM_PA_NAIRAUG4]
1. X=2years Y =1 year/UST = 299 95 = 199

[Option ID = 3845]
2. X=1year Y=1year/THI = 1a9 @§ = 1a%

[Option ID = 3846]



3. X=3years Y=2vyear/THH = 39 O = 249
[Option ID = 3847]

4. X =3vyears Y =1year/Ueg = 399 915 = 199
[Option ID = 3848]

Correct Answer :-

® X=2years ¥=1year/UFT = 299 915 = 1499
[Option ID = 3845]

Topic:- AMM_PB_NAIRAUG4

1) Hindi Day is celebrated every year on / 8% 91a fga] [Ga9 o=/ &iar 8

[Question ID = 963][Question Description = Q01_AMM_PB_NAIRAUG4]
1. 13 October { 13 TR

[Option ID = 3849]
2. 14 September / 14 RdaR

[Option ID = 3850]
3. 47 November / 17 Ada?

[Option ID = 3851]
4. 48 March /18 O

[Option ID = 3852]

Correct Answer :-
® 14 September / 14 [Hdax
[Option ID = 3850]

2) Who was the first chairman of the committee which was formed on the
recommendation of the official language commission. [ XISTHTH] T & G-FjQiHT oL

TEd WAl & TuE = BF U7
[Question ID = 964][Question Description = Q02_AMM_PB_NAIRAUG4]
1. Dr. Rajendra Prasad / 3T, T6ig WG

[Option ID = 3853]
2. Govind Ballabh Pant / Tiidg de0H da

[Option ID = 3854]
3. Jawahar Lal Nehru / Siaigt id -e®

[Option ID = 3855]

4. Lal Bahadur Shastri / T S8T6< M@l
[Option ID = 3856]

Correct Answer :-

® Govind Ballabh Pant / Tidg ey Ud
[Option ID = 3854]



3) Please see list of languages below

1) Dogr
) Kokni
Iy Santhali
V) Manipun

e BT L T e e e e

) ST
1) Hl=t
1) ST

1) T

[Question ID = 965][Question Description = Q03_AMM__PB_NAIRAUG4]
Only | and |l are part of Eighth schedule of constitution. / e | 3R || Gfaem

' Bl B AT & B 2

[Option ID = 3857]
Only Ill and IV are part of Eighth schedule of constitution / daer Il AR 1V

WAy #t Edl R & fRwn &

[Option ID = 3858]
Only |, Il & IV are part of Eighth schedule of constitution. / &aer |, Il 3R 1V

HAUH ST aedl g & BT gl

[Option ID = 3859] _
AlLL 1L 1 & IV are part of Eighth schedule of constitution. / §H1 1, 11, 11l 31’

V0 B T e T o e B s
[Option ID = 3860]

Correct Answer :-
AllL 11, 11l & IV are part of Eighth schedule of constitution. / FHT 1, 11, 11l 3R

V1 B T 2 1 7 =

[Option ID = 3860]

4) What is the name of award given by Ministry of Railway for poetry book. / Higar
@ & [0 <0 BFEd o (6 9 ad SR @ 9 @ 87

[Question ID = 966][Question Description = Q04_AMM_PB_NAIRAUG4]
1. Jai Shankar Prasad award. [ 578 Si% TG [RIHR

[Option ID = 3861]

2. Mahadevi Verma award. / Sgiedl 991 TSR
[Option ID = 3862]
3. Maithali Saran Gupta award / #2ll §3 Tl GIEER
[Option ID = 3863]
4. Surya Kant Tripathi Nirala award / Gdaia Hodl FRen @R
[Option ID = 3864]
Correct Answer :-
® Maithali Saran Gupta award / #erell T3 T 38R
[Option ID = 3863]

5) Home Ministry awards in case to employees who write at least X' weords of Hindi
during official work in one financial year. ‘X’ is/ Ue fatiig a8 o iR dEa™

& ORH g0 & &9 U TF X I [oE i SHad) ® 8 e [EER
a1 81 Ta 3



[Question ID = 967][Question Description = Q05_AMM_PB_NAIRAUG4]
1. 5,000 words / 5,000 e

[Option ID = 3865]
2. 10,000 words / 10,000 e

[Option ID = 3866]
3. 20.000 words { 20,000 =5,

[Option ID = 3867]
4. 40,000 words / 40,000 =g

[Option ID = 3868]

Correct Answer ;- Deleted

6) Section 4 of the official Language Act 1963 deals with / IHTET féHTH 1063 @f
YRT 4 fpoe deftm 37

[Question ID = 968][Question Description = Q06_AMM_PB_NAIRAUG4]
The formation of the Regional official Language Committee. / &R reTHTST

g &1 BT

[Option ID = 3869]
The formation of the Parliamentary committee on official Language. /

AU G WA 18T

[Option ID = 3870]
The formation of the city official Language Committee. / 7R 4TSl AT

CORIGT

1.

[Option ID = 3871] )
None of the given options is correct. / 188 71T fa@edl H & ®ig W Tgl &l

4. 3
[Option ID = 3872]

Correct Answer :-
R The formation of the Parliamentary committee on official Language. /

TS e g &1 18T

[Option ID = 3870]

7)  Under which rule the working knewledge of Hindi fer the employee is defined. /
FHAR & oy Bl & Feess 37 &9 Fa0 & s g G

T 82

[Question ID = 969][Question Description = Q07_AMM_PB_NAIRAUG4]
Under Rule 8 of the official language Rules 1976. / IT=T4eT FoamEst 1976

| % fom o At

[Option ID = 3873]
Under Rule 9 of the official language Rules 1976, / T1<THIE] FraamEer 1976

% 99 o 3l

[Option ID = 3874]
Under Rule 10 of the official language Rules 1976. / XISHIST AgwHmEe!

19768 & FOH 10 2l

[Option ID = 3875] ) ]
Mone of the given options is correct: Jfow e fedf O H:"'I'ﬁ" Wt Tt

ol T
[Option ID = 3876]

Correct Answer :-



. Under Rule 10 of the official language Rules 1976. / ITHTHET [EREIEGl
1976 & fHOH 10@ il

[Option ID = 3875]

8) Which committee reviews the progress made in the propagation of Hindi in any

Ministry and Department /@1 9t fafd el darew w9 faum & < & wwe
TR | g v @ wEien et g

[Question ID = 970][Question Description = Q08_AMM_PB_NAIRAUG4]
1. Hindi Samiksha Samiti / @41 weften sl

[Option ID = 3877]
2. Hindi Prachar Samiti / TEe<r TR T

[Option ID = 3878]
3. Hindi Prasar Samifi | T8¢! TER 9Hfd

[Option ID = 3879]
4. Hindi Salahkar Samiti/ 21 Hog®mr gAfd

[Option ID = 3880]

Correct Answer :-

® Hindi Salahkar Samiti / 821 Hale®R S

[Option ID = 3880]

9) When is world Hindi Day celebrated. / fay Zdl fGag &9 = m o 8

[Question ID = 971][Question Description = Q09_AMM_PB_NAIRAUG4]
1. 14 September/ 14 TR

[Option ID = 3881]
2. 10 January / 10 S9g<1

[Option ID = 3882]
3. 14 Ociober/ 14 3dgsd

[Option ID = 3883]
None of the given options is correct /168 7Y fd@edi H ¥ &2 4 gt

T
[Option ID = 3884]
Correct Answer :-
® 10 January / 10 SFas]
[Option ID = 3882]

10) In'which language will the documents covered under Section 3 (3) of the official

Language Act be issued. / ISUTYT HEFEE & URT 3{'3}% dTia A gl
T g v o 9 B S
[Question ID = 972][Question Description = Q10_AMM_PB_NAIRAUG4]
1. Only in Hindi / Faa &gt &
[Option ID = 3885]
2 Only in English / Saa usll o

[Option ID = 3886]

3. Both in Hindi & English / 86} 3w =T gAF &

[Option ID = 3887]
4. In regional Language & Hindi / &t w3k B g ¢

[Option ID = 3888]

Correct Answer :-



® Both in Hindi & English / §dl 2T 3T gFF &

[Option ID = 3887]

11) According to the official language Rule, Andaman & Nicobar Islands belong
to which region. / THMTE 790 & HUR SO U4 FeER g9 WE
forg & ¥ wsfem 32
[Question ID = 973][Question Description = Q11_AMM_PB_NAIRAUG4]
1. Karegion /@ &3
[Option ID = 3889]
2. Kharegion /9 &%
[Option ID = 3890]
3. (Garegion/d &3
[Option ID = 3891]
4. Gha region /© &5
[Option ID = 3892]

Correct Answer :-
® Karegion /@ &3
[Option ID = 3889]

12) The target et for correspondence fromi region 'A'to ' C'is % / & b g
O wER ® v Rafda @gg . %Rl
[Question ID = 974][Question Description = Q12_AMM_PB_NAIRAUG4]
1. 80%
[Option ID = 3893]
2. 5%
[Option ID = 3894]
3. T0%
[Option ID = 3895]
4. B5%
[Option ID = 3896]

Correct Answer :-
® B5%
[Option ID = 3896]

13) If an employee has passed matriculation or any equivalent examination or higher
examination with Hindi medium, then what will be considered his level of knowledge

of Hindi. / a6 5l ®rarl 3 3fcw a1 9 udien a1 9= uden fEd mwem
o ol &t ¢ O Sue B 39 @ W) @ 9 S|

[Question ID = 975][Question Description = Q13_AMM_PB_NAIRAUG4]

1. Praveen / Wdio
[Option ID = 3897]
2. Pragya /"R

[Option ID = 3898]
3. Prarambhik / TRl

[Option ID = 3899]
4. Karyasadhak | @EATYE

[Option ID = 3900]

Correct Answer :-
® Pragya/U&



[Option ID = 3898]

14)  What is tenure of ‘Mukhya Rajbhasha Adhikari' / %3 J=THTT HSEET &
ST T 22
[Question ID = 976][Question Description = Q14_AMM_PB_NAIRAUG4]
19 year/ 189
[Option ID = 3901]
2. 2years/2d4
[Option ID = 3902]
3. 3years/3ad
[Option ID = 3903]
4 Byears/5a4
[Option ID = 3904]

Correct Answer :-
1year/ 1 G
[Option ID = 3901]

15) How many rules are there in official language rules 1976, / IT=HTST Fom 1976 1
fe Fam g2
[Question ID = 977][Question Description = Q15_AMM_PB_NAIRAUG4]
1. g
[Option ID = 3905]
2. 10
[Option ID = 3906]
3. 12
[Option ID = 3907]
4 14
[Option ID = 3908]

Correct Answer :-
® 12
[Option ID = 3907]

16) Baba Baidyanath Dham is located in State of | G AETey
T A g g

[Question ID = 978][Question Description = Q16_AMM_PB_NAIRAUG4]

1. Uttar Pradesh / 3a% 9oal
[Option ID = 3909]

2. Bihar/fasw
[Option ID = 3910]

3. Bengal | F9meT
[Option ID = 3911]

4. Jharkhand /| STHEE5
[Option ID = 3912]

Correct Answer :-

® Jharkhand / SE@s
[Option ID = 3912]



17) Which article of the Indian constitution abolished 'untouchability’ forbade its practice
in any form and made enforcement of any disability arising out of untouchability an

offence punishable accordance with law. / IR A9 & 0 o o
'FEIRTAT @ WA S iGan AR T o ¥ F sud aeae W O o &7
HI FERIAT & Iede=r Fhwll ofl 3|ETAr $ AR BT Ff F HFHR G5
3R &= feam

[Question ID = 979][Question Description = Q17_AMM_PB_NAIRAUG4]

1. Article 14 / 3]ese, 14

[Option ID = 3913]
2. Arficle 15 | 3o 15

[Option ID = 3914]
3. Aricle 16!3@?&%{ 16

[Option ID = 3915]
4. Article 17 / 3128 17
[Option ID = 3916]

Correct Answer :-

 Article 17 / F=jzg 17

[Option ID = 3916]

18) Who was the last Governor General of India. | T & 37108 Idei{ STeiel Hi 97

[Question ID = 980][Question Description = Q18_AMM_PB_NAIRAUG4]
1. Lord Mountbatten / 78 HASceaca

[Option ID = 3917]

2. Lord Irwin / @15 sTfa=T
[Option ID = 3918]
3. Chakravarti Rajagopalachari / Tehadl T=RITaTe=mear

[Option ID = 3919]
4. Dr. Rajendra Prasad. / 37, {i=la 94IG

[Option ID = 3920]
Correct Answer :-
® Chakravarti Rajagopalachari / T&acd T,

[Option ID = 3919]

19) Where did the tenth and last Sikh Guru Gobind Singh Ji ancinted the holy book
Guru Granth Sahib as eternal Guru of Sikhism. / §8d 3T 3ifads @ = ifdg

5 = o ofds a1y 3% T |iied & @ 997 & aead % & §9 7 Fu Sged
Toam o
[Question ID = 981][Question Description = Q19_AMM_PB_NAIRAUG4]
1. Golden Temple Amritsar / Ta0T ARG 3HATT
[Option ID = 3921]
2. Hajur Sahib, Nanded / GoIX Hied, Aigs
[Option ID = 3922]
3. Takht Sn Patna Sahib / %1 4 9= A1fge

[Option ID = 3923]
4. Damdama Sahib, Talwandi Sab, Bhatinda/ EHAGAT AIge. dadal o, Hiésr

[Option ID = 3924]

Correct Answer :-

® Hajur Sahib, Nanded / §aX Hifed, Fias



[Option ID = 3922]

20) on which river Hirakund Dam is located. | 8N @i T o o e 52
[Question ID = 982][Question Description = Q20_AMM_PB_NAIRAUG4]
1. Narmada / T#g1

[Option ID = 3925]

2. Mahanadi / #&THCT

[Option ID = 3926]

3. Godavari / FiTgrEtr

[Option ID = 3927]
4. Krishna / $50T

[Option ID = 3928]

Correct Answer :-

® Nahanadi / BT

[Option ID = 3926]

21) Inwhich year capital of India was shifted from Calcutta to Delhi by British / fessr aq
ST AT HRA & TTrE dee O ool TEaia & s 4
[Question ID = 983][Question Description = Q21_AMM_PB_NAIRAUG4]
- 1910
[Option ID = 3929]
2 1911

[Option ID = 3930]
3. 1912

[Option ID = 3931]
41913
[Option ID = 3932]

Correct Answer :-

® 1911
[Option ID = 3930]

22) Who is Chief Minister of Manipur? / #fSTO & JERET & )

[Question ID = 984][Question Description = Q22_AMM_PB_NAIRAUG4]
1. Mr. Lalduhawma / 47 Sergggar

[Option ID = 3933]
2. Mr. N. Biren Singh / 27 =, 8T @8

[Option ID = 3934]
3. Mr. Conrad Sangma / 27 SHI=R15 TarAT

[Option ID = 3935]
4. MrPema Khandu / 2 d&r g

[Option ID = 3936]

Correct Answer :-

® Mr. N. Biren Singh / 2T =1, & &8
[Option ID = 3934]

23) Which party won state assembly election in Sikkim / RiTdRe & e TEumemT# T
oo # AT et o She s 7

[Question ID = 985][Question Description = Q23_AMM_PB_NAIRAUG4]



1. Sikkim Deriocratic Front / BEa 29t oe
[Option ID = 3937]
2. Sikkim Krantikar Morcha / e FidST J=r
[Option ID = 3938]
3. Sikkim National Peoples Party / Ffd# =fetel diged aiel

[Option ID = 3939]

4. Sikkim United Front. / ffeea g=5es Be
[Option ID = 3940]
Correct Answer :-

® Sikkim Krantikari Morcha / id&# HiTdehidl #=r
[Option ID = 3938]

24) In which state 200 ft wide statue of "Jatayu' is located. / SR $r 200 Fie =isr
g &g T F fya &

[Question ID = 986][Question Description = Q24_AMM_PB_NAIRAUG4]
1. Tamil Nadu / TiH&=5

[Option ID = 3941]

2. Andhra Pradesh / % we2r
[Option ID = 3942]

3. Kerala / #%et
[Option ID = 3943]

4. Karnataka | =l

[Option ID = 3944]

Correct Answer :-
® Kerala /&4a
[Option ID = 3943]

25) Economy of which state is largest in India i.e. which state has highest Gross State
Domestic Product (GSDP). / 81Re # g U= &1 sniczarar e a3r § snig

faeT T & Weher T BYE] 3c91G (SEsidT) Fad #EE &)

[Question ID = 987][Question Description = Q25_AMM_PB_NAIRAUG4]
1. Karnataka / f=liceh

[Option ID = 3945]

2. Maharashtra/ HgRIcE
[Option ID = 3946]

3. Gujrat/ R
[Option ID = 3947]

4. Tamil Nadu / AT#He=15
[Option ID = 3948]

Correct Answer :-

® Maharashtra/ HERISC

[Option ID = 3946]

26) On June 21, Sun comes directly abave / 21 ST 5 B‘ﬁ Sk Oy 3 dr &

[Question ID = 988][Question Description = Q26_AMM_PB_NAIRAUG4]
1. Tropic of Capricom | AL {@T

[Option ID = 3949]
2. Equator / #FTET T



[Option ID = 3950]
3. Trapic of Cancer / @ I@T

[Option ID = 3951]
None of the given options is correct. | 6T 91T [ddedl & & FI5 & T8l =61

&

[Option ID = 3952]

Correct Answer :-
® Tropic of Cancer / & {@T
[Option ID = 3951]

27) \What is Gulf Stream? / 3705 T & B2

[Question ID = 989][Question Description = Q27_AMM_PB_NAIRAUG4]
A famous-luxury ship which operates between Dubal & Jedda. / T ';I‘IZ-?!QJ

aFal e S gas X SiegT & &g denfeid g 6l

[Option ID = 3953]
A cold Sea current which runs from black sea to cost of Somalia through

2. Swayze canal. U 337 THE GRT ST Hiol AR & T w6 & "H §
HETear & W aF Tadr b

[Option ID = 3954]
A warm Atlantic Ocean current that originates in the Gulf of Mexico & flows up:

3. to eastern coastline of U S.A U 718 Jcdiicsd HeaE@iy anr = Afdgsr &
gl ¥ fAwad § 3 dgad vsa 3ARE & gdf e oF dedl g

[Option ID = 3955]
Large Sand Storms which oniginate in Gulf regions of Saudi Arabia & Yaman

|7 W g S W3 N 3TN T & wr A # 3o0e A Bl

[Option ID = 3956]

1.

Correct Answer :-
A warm Atlantic Ocean current that ariginates in the Gulf of Mexico & flows up:

o {0 eastern coastling of U.S.A Ueh 36 Jcoliica AgEERIT GRT =i Afeas &
gl I e § 3 dged veg FARE & qdf e o% dedl ¢l

[Option ID = 3955]

28) To repopulate India with Cheetah, few Cheetahs were brought from Africa &
released in a National Park in India. Name of this National Park is. / 8TRd @&l =il

¥ TR § A = & AU, S =idh @ b S e AW SR O
ACERT 3 H TGl TR SF [ 354 & AW B
[Question ID = 990][Question Description = Q28_AMM_PB_NAIRAUG4]
1. Bandhav Garh Nationa Park / @€1d 3¢ IS¢ 3801
[Option ID = 3957]
2. Kuno National Park / $eil TSE 36411
[Option ID = 3958]
3. Kanha Tiger Reserve | FlegT TSR Naid

[Option ID = 3959]
4. Panna National Park / 9ol TS¢H 3641

[Option ID = 3960]

Correct Answer :-

* Kuno National Park / =il TSEa 3eame

[Option ID = 3958]



29) When is world Environment Day celebrated. / faea gHieRoT feaw Fa HamEr S
&

[Question ID = 991][Question Description = Q29_AMM_PB_NAIRAUG4]
1. 5Jdune/ 55

[Option ID = 3961]
2. 25 July / 25 el

[Option ID = 3962]

3. 15 September/ 15 fdex
[Option ID = 3963]

4. 25 October / 25 3EgaN
[Option ID = 3964]

Correct Answer :-
® 5 June/ EGE[

[Option ID = 3961]

30) Who won first individual gold medal for India in Olympic Games._ / TSisgl=T H@gH
et 3 o & v gger SFasd W@ 9gd S

[Question ID = 992][Question Description = Q30_AMM_PB_NAIRAUG4]

1. Neeraj Chopra/ =iRet =iasT

[Option ID = 3965]
2. Abhinav Bindra / #f8i=ig fear

[Option ID = 3966]

3. Mary Kom / &1 =ie
[Option ID = 3967]

4. Saina Nehwal | 9TS=T <Igarer
[Option ID = 3968]

Correct Answer :-

o Abhinayv Bindra | #fdi=a fdar

[Option ID = 3966]

31) Dunng Independence Movement who was famous as: Frontier Gandhi. / =ad=ar
Highel & it it SHid el & @5 § 9ibgey 9

[Question ID = 993][Question Description = Q31_AMM_PB_NAIRAUG4]

1. Maulana Abul Kalam Azad / Hicllell 3ol @elld 3G

[Option ID = 3969]
2. Khan Abdul Gaffar Khan /@< 3egal PR =

[Option ID = 3970]
3. Lala Lajpat Rai / &l &@=9d UF

[Option ID = 3971]
4. Khan Abdul Quyyum Khan / @l 3egel FTgH Tl

[Option ID = 3972]

Correct Answer :-
¢ Khan Abdul Gaffar Khan / @il Hege IFRR Tl

[Option ID = 3970]

32) The Dronacharya Award is given to./ B0T=T TR st fear =imam &7
[Question ID = 994][Question Description = Q32_AMM_PB_NAIRAUG4]



1. Teachers in academies | ¥Fciaar & HieE

[Option ID = 3973]
2. (Coaches in Sports / el UfEaTs
[Option ID = 3974]
3. Best archer of India during year / 9 & SR #RT &1 §a9%s dia

[Option ID = 3975]
4. Best Editor of a Magazine / T 9fEier &7 Gadss ddies

[Option ID = 3976]

Correct Answer :-

® Coaches in Sports / Tel 9felaTs
[Option ID = 3974]

33) Teachers' Day is celebrated in India on birth anniversary of / i # Hetd Gog
ey S TR A= S 7

[Question ID = 995][Question Description = Q33_AMM_PB_NAIRAUG4]
1. Swami Vivekanand / S fdadeer

[Option ID = 3977]
2. M. Visvesvaraya / UH. Taedeayar
[Option ID = 3978]

3. Zakir Husain | =ifae 5847

[Option ID = 3979]
None of the given options is comrect. / 6w 710 fdshedl & & &2 & 98! =gr

&l
[Option ID = 3980]
Correct Answer :-
None of the given options is comect. / BT 10 Tasedl # & @i & 98 =l
&l

[Option ID = 3980]

34) Two revolutionaries threw bombs at the Central Legislative Assembly Delhi. One
was Sardar Bhagat Singh second revolutionary was / €1 SiToINaT o hald TaemeT

T feedll W aH §) U ¥ e HAg g guy Side o
[Question ID = 996][Question Description = Q34_AMM_PB_NAIRAUG4]
1. Rajguru/ T=RE

[Option ID = 3981]
2. Sukhdev/T@sd

[Option ID = 3982]
3. Batukeshwar Dutt / SEH¥aT ol

[Option ID = 3983]
4. Ramprasad Bismil / T#9dE [AEAT
[Option ID = 3984]

Correct Answer :-

* Batukeshwar Dutt / SZHaT o

[Option ID = 3983]

35) How many Railway Stations are there in India / 8TRg & o= Yo0 w29 87

[Question ID = 997][Question Description = Q35_AMM_PB_NAIRAUG4]
1. Approx 7300 stations / TaT#T 7300 TE9=T



[Option ID = 3985]
2. Approx 6500 stations / TIEET 6500 T

[Option ID = 3986]

3. Approx 8700 stations / ¥RTT 8700 T3
[Option ID = 3987]

4. Approx 5700 stations / wHTHIT 5700 T
[Option ID = 3988]

Correct Answer :-

® Approx 7300 stations / TIEET 7300 T

[Option ID = 3985]

36) What is number of fundamental duties for cifizens of India mentioned in Indian

constitution. / IR HIGWE & SR & ARG & 6T aruld #Alfded Soaedl 6y
T TehaeT &2
[Question ID = 998][Question Description = Q36_AMM_PB_NAIRAUG4]
1. 9
[Option ID = 3989]
2. 10
[Option ID = 3990]
3.1
[Option ID = 3991]
4. 12
[Option ID = 3992]
Correct Answer :-
* 1
[Option ID = 3991]

37) Famous poet Subramania Bharathi belongs to which state / 9flex &id gasvas
ORAr 9 U9 § e 87

[Question ID = 999][Question Description = Q37_AMM_PB_NAIRAUG4]
1. Karnataka / Sellcs

[Option ID = 3993]

2. Tamil Nadu / @ffe=5
[Option ID = 3994]
3. Kerala/ &%l

[Option ID = 3995]
4. Andhra Pradesh / #Te 923r

[Option ID = 3996]

Correct Answer :-

* Tamil Nadu / GfFeeTg

[Option ID = 3994]

38) Malana is caused by / FIRET TR FILOT BIaT 72
[Question ID = 1000][Question Description = Q38_AMM_PB_NAIRAUG4]
1 Virus / GRS

[Option ID = 3997]
2. Bacteria / SeITEm
[Option ID = 3998]



3. Single cell parasite / Udhel 79I 9Lalldl
[Option ID = 3999]

4. Amoeba [ JHET
[Option ID = 4000]

Correct Answer :-

e Single cell parasite /| Tahel SIS 9Laidr

[Option ID = 3999]

39) Who elect Vice President of India

1) Member of Rajyasabha

) Member of Loksabha

1) Member of State assemblies of all States

V) IMembers of the assemblies of union temitones
Which of the following option is correct.

AR & YISl F g HiT Far 57

) =T W & e

) ol e

Iy =aft U= @ o= fousaeE & 9ged
V) & EE TRl B A ey
ey # & &9 W fAeeT wr &

[Question ID = 1001][Question Description = Q39_AMM_PB_NAIRAUG4]
1. Only | is correct. / Fdel | @eT &1
[Option ID = 4001]
2. Only | & Il are correct / el | #X || G5 &
[Option ID = 4002]
Only 1, It & Il are comrect [ Cnly |, 11 & |l are correct
[Option ID = 4003]
4 AL L I &IV are correct / T8fT 10, 1 3iR v EET €
[Option ID = 4004]

Correct Answer :-

® Only | & |l are correct ! thael | HIX Il T8 £
[Option ID = 4002]

40) Inwhich state India’s Missile Testing site is located / #IRd &1 HHSer G0 T
o U= 7 B &7

[Question ID = 1002][Question Description = Q40_AMM_PB_NAIRAUG4]

1. Karnataka | #=i1ceh

[Option ID = 4005]
2. Orissa/ 3SK

[Option ID = 4006]
3. Rajasthan / I tlT=T

[Option ID = 4007]
4. Maharashtra | FgRI

[Option ID = 4008]

Correct Answer :-
® QOrissa/38M
[Option ID = 4006]



41) what is fertility rate { 9=t &0 &0 &

[Question ID = 1003][Question Description = Q41_AMM_PB_NAIRAUG4]
Average births in a country in a year per 100 people. / el 7 o a¥ &

1.
gfer 100 & o¥ i awm)

[Option ID = 4009]
Number of children bom to an average woman. / Ta 3iTeaa Afger 4 o g

2.
aodl ol HE

[Option ID = 4010]
Number of children who live above § years of age per 100 women [ 9ic 100

3.
Higem3t W 59 & A HRE & aodl & 9E
[Option ID = 4011] _

4. None of the given option is correct / 20 710 fawedl & O &5 o 981 =87 &1
[Option ID = 4012]

Correct Answer :-

. Number of children bom to an average woman. / Ts 3iTaa #Afger 4 a7 5
ol & HET

[Option ID = 4010]

42) why red blood cells are red / TTer (G HIEIRIU T 4T glar &7
[Question ID = 1004][Question Description = Q42_AMM_PB_NAIRAUG4]

1. Due to presence of zinc / fai& & 3ufRuf & swor

[Option ID = 4013]
2. Due to presence of Magnesium /| HT=1T9H H1 I9FEfT & HROT

[Option ID = 4014]
3. Due to presence of lron / ¥ERA §r 30Tefa & &RoT

[Option ID = 4015]
4. Due to presence of calcium / Fieerd & 39FEATa & FROT

[Option ID = 4016]

Correct Answer :-

o Due to presence of lron / RS &1 30EUfd & SROT

[Option ID = 4015]

43) Famous sporis person Nikhat Zareen is famous for which sport / 9188 f@esr
Hmea Fl= a @ & Tov gfbgy §7

[Question ID = 1005][Question Description = Q43_AMM_PB_NAIRAUG4]
- Weight lifting | @1 3&1=11

[Option ID = 4017]

2. Badminton/ d5iHea

[Option ID = 4018]
3. Tabe tennis/ T oo

[Option ID = 4019]

4. Boxing / Fahatal
[Option ID = 4020]

Correct Answer :-

e Boxing / HFharil

[Option ID = 4020]



44) Whose signature is prinied on Rs 1 note in India / 1RT & 1§99 & dic W &6
FECIRR B9 87

[Question ID = 1006][Question Description = Q44_AMM_PB_NAIRAUG4]
1. Governor of Reserve Bank of India / 3IRdM TTad a6 & 9a=iq

[Option ID = 4021]
2. Finance Minister of India / g & &9 #3r
[Option ID = 4022] _
3. Finance Secretary of Central Government. / thg H{oK & fad dfdd
[Option ID = 4023]
4. President of India / TRT & Teedfa
[Option ID = 4024]

Correct Answer :-
* Finance Secretary of Central Government. / g &N & ad afd

[Option ID = 4023]

45) Who invented electric bulb | =0l & ded &1 AiosaR o= =T

[Question ID = 1007][Question Description = Q45_AMM_PB_NAIRAUG4]
1. Nicolas Tesla/ [SiomT o&ar

[Option ID = 4025]
2. J.J). Thomson / oT.oT. OiFd=T

[Option ID = 4026]
3. Thomas Alva Adison / 98T 3edr Uisa=

[Option ID = 4027]
4 lsac Newton | HI5a1% =gg=T

[Option ID = 4028]
Correct Answer :-
® Thomas Alva Adison / &% 3ieaT UlsE=

[Option ID = 4027]

46) Who was architect of Chandigarh. / TIS1218 &7 aredeR i 41?

[Question ID = 1008][Question Description = Q46_AMM_PB_NAIRAUG4]
1. Le Corbusier / # HIdfre

[Option ID = 4029]
2. Otto Konigs berger [ 3T ®ifasd &1

[Option ID = 4030]
3. Edwin Lutyens / Usfd= dfedw

[Option ID = 4031]
4. HK Mewada /vd.d. Hast

[Option ID = 4032]

Correct Answer :-

* Le Corbusier/ o SidfIT

[Option ID = 4029]

47) Which is the heaviest planet in solar system: / T Hsel & Tad AT 78 &
T E?

[Question ID = 1009][Question Description = Q47_AMM_PB_NAIRAUG4]



1. Earth / gzt
[Option ID = 4033]

. Jupitar / gg¥UTd
[Option ID = 4034]
Saturn / 9if=

[Option ID = 4035]
4. Neptune/ w9=T
o

N

w

[Option ID = 4036]

Correct Answer :-

o Jupitar/ E!JEFI’!__FI

[Option ID = 4034]

48) For how many years President of USA is elected. / 'ﬁ'ﬂﬁ Tsd HANET &
qsgufe e awt & e =or oar 87

[Question ID = 1010][Question Description = Q48_AMM_PB_NAIRAUG4]

1. 3years/3 ¥

[Option ID = 4037]
2. 4years /49l

[Option ID = 4038]
3. Svyears/53
[Option ID = 4039]
4. Gyears/ BHl
[Option ID = 4040]
Correct Answer :-
® 4 years /4l
[Option ID = 4038]

49) Whose photo is printed on the note of denomination of 1 US $ /1 3&fER
sieR #ed & wlc W fhEdl Bt odt gl &
[Question ID = 1011][Question Description = Q49_AMM_PB_NAIRAUG4]
1. Abraham Lincoln / 3iges ol
[Option ID = 4041]
2. Benjamin Franklin / &= Hherfeer

[Option ID = 4042]
3. Alexander Hamilton / Heldeist siHee
[Option ID = 4043]
4. George Washington / Sifel arfaiae

[Option ID = 4044]

Correct Answer :-

* George Washington / Slfal arfgiaes

[Option ID = 4044]

50) Irani cup is associated with / Sl &9 fhad gefag 22

[Question ID = 1012][Question Description = Q50_AMM_PB_NAIRAUG4]
- Hockey / gThr
[Option ID = 4045]

2. Cricket/ e



[Option ID = 4046]
3. Football / Feale

[Option ID = 4047]
4. Basket Ball/ Sr=heatal

[Option ID = 4048]
Correct Answer :-
® Cricket/ f&e

[Option ID = 4046]

51) Famous book 'Das Kapital' was written by / 9iIeY T ‘2re hiqeer e
A fordr a5 =4

[Question ID = 1013][Question Description = Q51_AMM_PB_NAIRAUG4]

' Friedric Engels /| efie Gied

[Option ID = 4049]
2. |eo Tolstoy /! follT efeseia

[Option ID = 4050]
3. Vadimir Lennin / SaTfeaT eifeie

[Option ID = 4051]
4. Karl Manc / &lel #TeT

[Option ID = 4052]

Correct Answer :-

®  Karl Marx / Slel #E=T

[Option ID = 4052]

52) What is rank of India in world, ranked by total area of countries in decreasing
order. / TR 7 #RA F1 T T G, G & Fel aATe & W W Fed

wH H)
[Question ID = 1014][Question Description = Q52_AMM_PB_NAIRAUG4]
1. B/ 5ar
[Option ID = 4053]
2. g/ Gar
[Option ID = 4054]
3. iy Tar

[Option ID = 4055]
4. gh | gar

[Option ID = 4056]
Correct Answer :-
¢ T 7T

[Option ID = 4055]

53) The Directive Principles of State Policy are enshrined in / IT=9 & &ifd
fAde Rigeia fafed &

[Question ID = 1015][Question Description = Q53_AMM_PB_NAIRAUG4]

1. Part Il of the constitution / TTFET=T 1 #19T |II

[Option ID = 4057]

2. Part IV of the constitution / ST =7 &ET IV
[Option ID = 4058]

3. Part V of the constitution / Sfaer= &1 &m@T V



[Option ID = 4059]
4. Part VI of the constitution / Sfadma &7 80T VI

[Option ID = 4060]
Correct Answer :-
® Part IV of the constitution / Sfa=m=T &7 &1 IV

[Option ID = 4058]

54) What is the highest mountain pealk of Africa. / 3R & e 3= a9 e Hi=
o &7

[Question ID = 1016][Question Description = Q54_AMM_PB_NAIRAUG4]
1. Mount Kenya | #T3¢ el

[Option ID = 4061]
2. Mount Stanley / ATSE Fe=ell

[Option ID = 4062]

3. Mount Kilimanjaro | fhTei=iRT oaa

[Option ID = 4063]
None of the given options is correct / 6T 71T fdeedi & ¥ w5 ol @@l @ g1

Bl
[Option ID = 4064]
Correct Answer :-
* Mount Kilimanjaro / Thfem=iRT 9da

[Option ID = 4063]

55) Across which river ‘Bhakra Nangal Dam' is situated. / 'SiRasT =i9rel @i Tl ot
oy e 7

[Question ID = 1017][Question Description = Q55_AMM_PB_NAIRAUG4]

- River Ravi /Tdt =ier

[Option ID = 4065]
2. River Chenab / Fa=ie =icr

[Option ID = 4066]
3. River Sutlyj / Fdst =gl

[Option ID = 4067]

4. River Jhelum / 2/ 8T
[Option ID = 4068]

Correct Answer :-

® River Sutluj / Foelsl #al

[Option ID = 4067]

Topic:- AMM_PC_NAIRAUG4

1) Paternity leave can be availed by male Railway servant — / f"fl?ﬁ[ B GERENGH]
I 9T 19 FHARI 35 T b —
[Question ID = 1018][Question Description = Q01_AMM_PC_NAIRAUG4]
1. Up o 30 days before or up to 6 months from the date of delivery of the child
[T S0 FT AN § 30 B UsS 9% A1 6 TR OF)

[Option ID = 4069]



Up to 15 days before or up to one year from the date of delivery of the child.
19T & S\ & e ¥ 15 67 e oF A1 OF a9 o

[Option ID = 4070]
Up to 30 days before or up to one year from the date of delivery of the child.
o & e i OE § 30 G 95 aF o O a9 &

[Option ID = 4071]
Up to 15 days before or up to & months from the date of delivery of the child.
JFE F oo B aliE F 15 69 TBe aF T 6 Hple aF

[Option ID = 4072]

4.

Correct Answer :-
Up to 15 days before or up to & months from the date of delivery of the child.
| FET F e & adiE & 15 BT 9B aF W 6 7R aF

[Option ID = 4072]

2) Application for setlement pass should be submitted within from the
date of retirement / =19 97 & AU 3des daiiaig & gii@ @ ——

& ofigy 9 B aer =gy

[Question ID = 1019][Question Description = Q02_AMM_PC_NAIRAUG4]
1. B0days/ 60fea

[Option ID = 4073]
2. g0 days/ 90 &=

[Option ID = 4074]
3. & months [ 6 #ERT

[Option ID = 4075]
4. 12 months/ 12 Fg=T

[Option ID = 4076]
Correct Answer :-
® 12 months/ 12 Fg=T

[Option ID = 4076]

3) The family of a Railway servant who dies during service may be allowed to retain
rmonths on normal rent / TaT & ERET #7LGT
arer {od Saan) & 9aR & 9T BT W —— #AEl & v e

IR AT TT T FFATT & T Wl B

Railway accommodation for

[Question ID = 1020][Question Description = Q03_AMM_PC_NAIRAUG4]
1. 12 months / 12 FERT

[Option ID = 4077]
2. 18 months / 18 AL

[Option ID = 4078]
3. 24 months / 24 FEET

[Option ID = 4079]
4. 36 months / 36 HgleT

[Option ID = 4080]
Correct Answer :-
® 24 months / 24 FElT
[Option ID = 4079]



4) \What is full form'of PRAN and how miany digits do.a PRAN number has / PRAN
&7 Bor i &1 & 3 PRAN S fckel 3T & gl 67

[Question ID = 1021][Question Description = Q04_AMM_PC_NAIRAUG4]
1 Permanent Railway Account Number, 14 digits / T2iT Yerd @I JE, 14

I+
[Option ID = 4081]
Providentfund Retrieval Account Number, 12 digits / $ifa™g &7 gagia

Wi H&1, 12 Ha

[Option ID = 4082]
Permanent Retirement Account Number, 12 digits. / TiT arfeldid @rar

&, 12 3|

[Option ID = 4083]

Permanent Retirement Account Number, 14 digits. / TRl Jar-iaii @rar
&, 14 3|

[Option ID = 4084]

Correct Answer :-
Permanent Retirement Account Number, 12 digits. / ¥l arfeldi @rar

TET, 12 |

[Option ID = 4083]

5) What is the maximum number of school passes admissible for each child
(Studying away from home) of a Raillway Servant in a year if railway servant is

suspended for last 4 months. / If¢, Yo Far o 4 #0- § FefEa 8,
Al U @y A {69 FEAN & Godeh g (5 I g 9ers) & AU T e
ORT & e ' 341 7

[Question ID = 1022][Question Description = Q05_AMM_PC_NAIRAUG4]
1. 3full sets/ 371 &

[Option ID = 4085]
2. 2full sets/ 2 gt $€

[Option ID = 4086]
3. 1 full set/ 1 Oof ¥

[Option ID = 4087]
4. Nil / =
[Option ID = 4088]

Correct Answer :-

* 3full sets/ 399 ¥

[Option ID = 4085]

6) Forwhat period in police custedy is sufficient to put on employee under deemed

suspension. / Qe BXrad # Todsl 99 0% T6a Sl &l [etad J=r
EIGE NG IRE i

[Question ID = 1023][Question Description = Q06_AMM_PC_NAIRAUG4]

. Period exceeding 24 hrs / 24 9¢ & 3o &1 3@

[Option ID = 4089]
2. Periad exceeding 36 hrs / 36 5 & 3fEE &7 @fr

[Option ID = 4090]
3. Period exceeding 48 hrs { 48 5 ¥ 3fE &7 aafer



[Option ID = 4091]
4. Period exceeding 72 hrs ( 72 T & HEE & 3G

[Option ID = 4092]
Correct Answer :-
® Period exceeding 48 hrs / 48 5¢ & 1w & Faf

[Option ID = 4091]

7) With which of the following can joining time not be combined. / FF=iEa &
& oo Ty SaTsfeer TSA & 6T SisT o Tl 57

[Question ID = 1024][Question Description = Q07_AMM_PC_NAIRAUG4]
1. Leave on Average Pay / 3ida daa W geer

[Option ID = 4093]

2. Leave on half average pay / 319 3d dd9 W Q_-c_'ff
[Option ID = 4094]

3. Casual leave / ITH{THG Jaahrer

[Option ID = 4095]
None of the given options is correct / 5T 710 fasheal & & % o @l J67

[Option ID = 4096]
Correct Answer :-
® Casual leave | HIHCHE Haryl

[Option ID = 4095]

8) Wha can be given credit for creating the Permanent Negotiating Machinery on
Indian Railway, / 8RR od 9 TRl aa7 a7 @96 @1 4 & T e

Tl 57
[Question ID = 1025][Question Description = Q08_AMM_PC_NAIRAUG4]
1. Sn Jagjivan Ram / &l Seratiaet T

[Option ID = 4097]

2. Sri Lal Bahadur Shastry / 5T ST G6TgT AMEAT
[Option ID = 4098]

3. Sr Madhav Rao Sindhia / 2 @ o9 &R

[Option ID = 4099]
4. SV Gin /4 drdn fift

[Option ID = 4100]

Correct Answer :-

* SnVV Gin /4 drdn @it

[Option ID = 4100]

9) Which of the following is not a major penalty as per the Railway servants
(Discipline & Appeal) Rules. / {o0d FFaR (3= U9 3rden) e &
AR FEATREa # & Hia 9 @1 FAE T80 8

[Question ID = 1026][Question Description = Q09_AMM_PC_NAIRAUG4]
Reduction by 2 stages in the time scale of pay, for 2 years. | 50 dd=H

' & 2adf & TOT 2 1ol & weldn

[Option ID = 4101]



Withhelding of increment of pay for 1 year. with further directions that this
will not have effect on postponing the future increments. / 1 a9 & e 399

FETE T ehetl, HET & HET & W T e Sidsy & da dafel &
Tldld & 91 HIs UHE A6l 959N
[Option ID = 4102]

3. Compulsory retirement. / 3ifear fafaiafl

[Option ID = 4103]
Reduction to a lower time scale of pay, grade, post or service. | ddd, 315,

T a1 941 ¥ e 9aaEE J Sedl|
[Option ID = 4104]

Correct Answer :-
Withholding of increment of pay for 1 year. with further directions that this

will not have effect on posiponing the future increments. / 1 a9 & T aae
* gefr i Qe 3 8 R & W R gaw SRS A da ga @
TG T 9 Fi5 G 61 IS

[Option ID = 4102]

10) Which authorty is empowered to order for cut in pension of a chief office
supenntendent (Refired railway servant) under Discipline & Appeal Rules.

a3 e BUEt F ded AeT S IEfae (SaEga W
FHary) F e #F weddr o wey o = aNeR e aferdl = E

[Question ID = 1027][Question Description = Q10_AMM_PC_NAIRAUG4]
1. Principal Head of Department / 8T & e=l H§&T

[Option ID = 4105]
2. General manager / FETISHH

[Option ID = 4106]
3. Chairman Railway Board / Teief &I & 308t

[Option ID = 4107]
None of the given options is correct. / fT 7@ eeal # & &5 & wWer

6l Bl
[Option ID = 4108]

Correct Answer :-

None of the given options is correct / f5T 7T aedt 7 & s off wor
Tl &l

[Option ID = 4108]

11) ‘What is the upper age limit for claiming Children Education Allowance in case
of Divyang children. / ReTiaT <=t & @S & ofor R8T 877 &7 @1 a7 &

fere i 3Mg |&AT #4057

[Question ID = 1028][Question Description = Q11_AMM_PC_NAIRAUG4]
1. 20years/ 2099

[Option ID = 4109]
2. 22years/ 22 3%

[Option ID = 4110]
3. 24 years/ 24 EL

[Option ID = 4111]

4. Noage limit | & g drT 74T,



[Option ID = 4112]
Correct Answer :-
® IDyears/ 22 a9

[Option ID = 4110]

12) What is the standard form used to revoke suspension order under Railway

Servants (Discipline & Appeal) Rules / I&7d &=l (11T Ua HdTe) F#
& ded Hdas ey & 5 o & Tolw 39 T S aren #iee 999
w7

[Question ID = 1029][Question Description = Q12_AMM_PC_NAIRAUG4]

1. Standard form - 1/ #=l& 997 - 1

[Option ID = 4113]
2. Standard form — 2 / A% 994 - 2

[Option ID = 4114]
3. Standard form — 4 / Hi=th 993 - 4

[Option ID = 4115]
4. Standard form — 6/ H<& 999 - 6
[Option ID = 4116]

Correct Answer :-
® Standard form —4 / Al 994 - 4

[Option ID = 4115]

13) In which Rule of Railway Service (Conduct) Rules 1986, instructions regarding
prohibition of sexual harassment of working women are stipulated. / [T Yerer

Far (HERvn) FUH 1966 F FOH & FEEer AearH & T SadisT
U ermer waelr facer Feifa £

[Question ID = 1030][Question Description = Q13_AMM_PC_NAIRAUG4]
1. Rule 3A/ =& 3T

[Option ID = 4117]
2. Rule 3B/ W==e 340

[Option ID = 4118]
3. Rule 3¢/ =@ 39T

[Option ID = 4119]
None of the given options is correct. / TGT 71T Td&edl & @ F15 off T8 =51

Bl
[Option ID = 4120]

Correct Answer :-

® Rule 3¢/ T 39

[Option ID = 4119]

14) How many dependents are allowed in complimentary pass. / AT O #7
fohetet T3 &7 Al 22

[Question ID = 1031][Question Description = Q14_AMM_PC_NAIRAUG4]
1. 1 dependent/ 1 38T

[Option ID = 4121]
2. 2 dependents/ 2 AT

[Option ID = 4122]



3. 3dependents/ 3 38T
[Option ID = 4123]

4. 4 dependents / 4 AT
[Option ID = 4124]

Correct Answer :-
* 2 dependents/ 2 3T

[Option ID = 4122]

15) Read the following statements

1) A suspended employee can be called to appear in a selection for
promotion.
1] Suspension is not a penalty under Discipline & Appeal Rules 1868,

Which of the following options is comrect.

FFfeiET wue 98

) e Fefaa & & w@eafd & e owe & affe o= & fe gamr
ST el B

Iy 3reremers 3 ardier BT 1968 & apa Bees =E &5 a8 B

fefefad & & sia o ooy w6 6

[Question ID = 1032][Question Description = Q15_AMM_PC_NAIRAUG4]
1. Only | is correct. / Thae | TG &

[Option ID = 4125]
2. Only Il is correct. / Faw || @& &

[Option ID = 4126]

3. Both! &l are correct. / | 3 I AT T8 £

[Option ID = 4127]
4. Both | & |l areincarrect / | 3T 1 &1 710ig &

[Option ID = 4128]

Correct Answer :-

® Both!| &Il are correct / | 3T I =T T8r £

[Option ID = 4127]

16) A Group-A Railway official working as a teacher on deputation to the National
Academy of Indian Railway (NAIR) is entitied to draw training allowance at the

rate of — /- SRAE Yo & U HFGH (TASRHR) A gidl=gida w
f9aTe & FT # FE He el I-C T6d ATAHRT —- & gC T qfeeqor smr

O F EFEN B

[Question ID = 1033][Question Description = Q16_AMM_PC_NAIRAUG4]
1. 12%

[Option ID = 4129]
2. 18%

[Option ID = 4130]
3. 24%

[Option ID = 4131]
4. 30%

[Option ID = 4132]

Correct Answer :-
® 24%
[Option ID = 4131]



17) What is full form of RESS. / HR.S.0H.0H & Fel A 471 57
[Question ID = 1034][Question Description = Q17_AMM_PC_NAIRAUG4]
1. Railway Employee Service Site / Toid Sl JaT TET

[Option ID = 4133]
2. Railway Employee Service Store / Toid S8R dar I

[Option ID = 4134]
3. Railway Employee Self Service | Toid =T Fad dar

[Option ID = 4135]
Mone of the given options is:-correct. /| 6T 710 Tawedl & & &S & @81

o &
[Option ID = 4136]

Correct Answer :-

* Railway Employee Self Service | Toid Faail Tad &ar

[Option ID = 4135]

18) A railway Servant seeking voluntary refirement from service should have

completed at least —— years of qualifying service. / a1 & Tt dar=d
A AT YT FEANT BT 36 AT & T FH —— I [ A AT

[Question ID = 1035][Question Description = Q18_AMM_PC_NAIRAUG4]
1. Syears/ 5af
[Option ID = 4137]
2. 10 years/ 1039
[Option ID = 4138]
3. 20years/ 20aY

[Option ID = 4139]
4. 30years/ 3099

[Option ID = 4140]

Correct Answer :-
* J0years/ 20TY

[Option ID = 4139]

19) The Railway Budget has been merged with General Budget we.f. / I g9 &
3 deie A [@on Bar g

[Question ID = 1036][Question Description = Q19_AMM_PC_NAIRAUG4]
- 201617
[Option ID = 4141]
2. 201718
[Option ID = 4142]
3. 201819
[Option ID = 4143]
4. 2019-20
[Option ID = 4144]
Correct Answer :-

¢ 2017118
[Option ID = 4142]



20) As perAricle 113 {2) of constitution of India, Budget estimates are presented to
Parliament in the form of — | #RT & A & 3qeog 113(2) MR,

FAC HAA TG A —-- & T & e Y AT ¢

[Question ID = 1037][Question Description = Q20_AMM_PC_NAIRAUG4]
1. Appropriation Account / T @ram

[Option ID = 4145]
2. Finance Account/ Taa @mar

[Option ID = 4146]
3. Demands for Grants / 3sIgel i #Hidy

[Option ID = 4147]
4. Abstract Estimates/ T A=

[Option ID = 4148]

Correct Answer :-

* Demands for Grants / 3Gl @i HdT

[Option ID = 4147]

21) Which of the following website portal deals with passing of Bills by Accounts
Department. / FF=Taii@d & § Sl O Jaw5e Oica o@ 990 cann fao

& uiid &1 @ T4fed &
[Question ID = 1038][Question Description = Q21_AMM_PC_NAIRAUG4]

1. |REPS /| HEARSUITH
[Option ID = 4149]

2. IMMS / NETATATE
[Option ID = 4150]

3. |pas / smEdvT
[Option ID = 4151]

4. LIMPS / Ter3ms v AL
[Option ID = 4152]

Correct Answer :-

® |PAS/ FsdTEH

[Option ID = 4151]

22) Reappropriation of funds from one itemised work to another itemised work is
within the powers of — / U6 Hgaed F1 I GIN FAaaey & # T &
R — & afFaat & A &
[Question ID = 1039][Question Description = Q22_AMM_PC_NAIRAUG4]
1. General Manager / HgTYEH
[Option ID = 4153]

2. Member Finance / 9250 fad
[Option ID = 4154]

3. Minister of Railways / ToT #:1
[Option ID = 4155]

4. Finance Minister / fae #4r
[Option ID = 4156]

Correct Answer :-

® General Manager / AgTddth

[Option ID = 4153]



23) Expenditure under staff Welfare & Amenities shall be charged to / ST
Fearor MR giaunt & ded o2 1 Yow o S

[Question ID = 1040][Question Description = Q23_AMM_PC_NAIRAUG4]

1. Demand No. 9/ &1 H&r 9

[Option ID = 4157]
2. Demand No. 10/ #i9T d&T 10

[Option ID = 4158]
3. Demand No. 11 / 9T I&T 11

[Option ID = 4159]
4. Demand No. 12 / AT &= 12

[Option ID = 4160]
Correct Answer :-
® Demand No. 11 /& i#T I&1 11

[Option ID = 4159]

24) What s full form of CO8 / H3T6 & el Hid 4T 57
[Question ID = 1041][Question Description = Q24_AMM_PC_NAIRAUG4]
1. Cash office register 6 / el AHiha AT 6

[Option ID = 4161]
2. Central office registers 6 / e FHATeRT Ioie 6

[Option ID = 4162]

3. Continuity order register 8 / Fiazar 3mear (ot 6

[Option ID = 4163]
4. Gash order register 6 / 3T 3ET IR 6

[Option ID = 4164]
Correct Answer :-
® Continuity order register 6 / ={ctar 3meer a+es 6

[Option ID = 4163]

25) Nommal life of vanous Rallway asseis is detailed in which of the following codes./

fafeer Yora IREul &1 G Siias Seteida 7 O &9 $i5 7 favgd
57

[Question ID = 1042][Question Description = Q25_AMM_PC_NAIRAUG4]

1. Indian Railway Accounts Code / TR Toid ofdl 15

[Option ID = 4165]
2. |ndian Railway Finance Code /| 8TRR o fag #is

[Option ID = 4166]
3. Indian Railway Stores Code / TROE {eld T2 @15

[Option ID = 4167]
None of the given options is correct. / 6T 717 fa@edl & & @15 & T51 787

Bl
[Option ID = 4168]

Correct Answer :-
® |ndian Railway Finance Code / 8TROT {oid fdd @is
[Option ID = 4166]



26) NetRevenue of a Zonal Railway is the difference between. / T8l 8T T&d &
YEY oTd @ 3R ©

[Question ID = 1043][Question Description = Q26_AMM_PC_NAIRAUG4]
Gross Eamngs minus ordinary working expenses [ Hdel HIT Hela

1.
HHT & oad

[Option ID = 4169]
Miscellaneous receipts minus miscellanecus expenses / Tafder o
Here Tdide ogg
[Option ID = 4170]

3. Total receipts minus total expenditure { el FiCaaT el ool 4T

[Option ID = 4171]
None of the given options is correct. / [GU 10 @wedl & & &5 8T T57 =eT

&l
[Option ID = 4172]
Correct Answer :-
® Total receipts minus total expenditure / el gt e ool =0T

[Option ID = 4171]

27) ‘What is the standard rake size of BOXN Wagons | iadUst del=l @l Aleid &
ITHER T 57
[Question ID = 1044][Question Description = Q27_AMM_PC_NAIRAUG4]
1. 42 Wagons | 42 da17
[Option ID = 4173]
2. 58 Wagons/ 58 891
[Option ID = 4174]
3. B0 Wagons / 60 T
[Option ID = 4175]
4. 62 Wagons / 62 e
[Option ID = 4176]
Correct Answer :-

® 58 \Wagons/ 58 8911

[Option ID = 4174]

28) Wagon turnaround time means / 871 THIRIE3S TFT & Adod &

[Question ID = 1045][Question Description = Q28_AMM_PC_NAIRAUG4]
Average time taken for loading of Wagons / &9i=1 & @S & 9= aren

Ao gag

[Option ID = 4177]
Average time taken for unioading of Wagons / &97=1 @i 3aW=T & el arar

ag wag

[Option ID = 4178]
Average time taken for movement of wagons from enginating to destination

3. station / ARG To3= & Jiged T3 O Q9IS ATeel & e
aren 3T §H

1.

[Option ID = 4179]
Average time faken by Wagons from loading to its subsequent loading. /

4,
91T C@RT FisdT & 3k 915 hl dllledl dar [eld 3T Had F9T



[Option ID = 4180]

Correct Answer :-
Average time taken by Wagons from loading to its subsequent loading. /

9Tl gaT SfSd & 3Gk &G i dlisdl o (el 4 3iEg 99T

[Option ID = 4180]

29) In' WMS Budget 'Issues to Stores’ means / SeegUATY dslc 7 TRy @ A
o AT §
[Question ID = 1046][Question Description = Q29_AMM_PC_NAIRAUG4]
Material manufaciured by workshop which i1s to be stocked in Depot /
e caRT T e R B # T e o

[Option ID = 4181]
Material returned by workshop as it is excess. /| TEFREIT & gl & &ROT

FRRAT EaRT a9 &Y oF M5

[Option ID = 4182]
Matenal sent to Depot on “Advice Note' / TFREIT 'Tee #ic 97 B0T &7 &=

T

[Option ID = 4183]
Matenal received from other Depots was returned to attached Depot. / #e1

BT & greg FeEEt Helewr BUY # agw & & 5
[Option ID = 4184]

Correct Answer :-

. Material manufaciured by workshop which 15 to be siocked in Depot /
FIATET ERT T aEE oy B & e foar s

[Option ID = 4181]

30) Areport by an ISAdetailing procedural iregularnities in the maintenance of Stock
is called — / ¥Ta & (@IEE # YiharcHs HEAATATABT & fdator &7 arelr

ISA ST ROiE FF — T ST
[Question ID = 1047][Question Description = Q30_AMM_PC_NAIRAUG4]
1. Narrative report / stifea Rdie

[Option ID = 4185]
2. Stock Sheet / =cie 4

[Option ID = 4186]
3. Stock verification report / TeTdh TeaTd= RUle

[Option ID = 4187]
4. Stock inspection report / Teid TaieToT RGE

[Option ID = 4188]

Correct Answer :-

® Narrative report / siifea Roie

[Option ID = 4185]

31) Debit balance in ‘Purchase Suspense’ indicate / "Il G800 & 2fe &0
g

[Question ID = 1048][Question Description = Q31_AMM_PC_NAIRAUG4]
Material received but bills not paid / SFET 9 Eﬁ Pichel Tl @l aTciet

-aﬁ’r%mmu



[Option ID = 4189]
Bills paid but material not received / Tl &1 aTarl &Y f&ar 3@ & difder

| Ted w6 65

[Option ID = 4190] _
Purchase order issued but material not received / & 39l ST &ar =0

afge gl w67 55

[Option ID = 4191] _
Indent vetted but purchase order not issued. / S5¢ & ST & 95 elfchel

wiig 3nzer adr w7 fEar
[Option ID = 4192]

Correct Answer :-

Bills paid but material not received / Tdeil & 3aTarel &Y féar Im@m & oifdher
[ ]
Tt gred =67 6% §

[Option ID = 4190]

32) I profit is 25% of cost price, then profit is equal to [ Tl @7 &P HE H
25% %, A o e §

[Question ID = 1049][Question Description = Q32_AMM_PC_NAIRAUG4]
1. 25% of Sale price / Taehr ¥z &1 25%

[Option ID = 4193]
2. 30% of Sale price / fahr #e T 30%

[Option ID = 4194]
3. 20% of Sale price / fashT #Hoa &1 20%

[Option ID = 4195] _
4. 15% of Sale price / TadhT [T F 15%

[Option ID = 4196]
Correct Answer :-

® 20% of Sale price | Tdehl #oa &1 20%

[Option ID = 4195]

33) Power to clese items under pari-l of the Railway Board Inspection Report of
Stores Accounts of a Zonal Railway lies with — / 87311 {&d & 510 Gl &1

o drs e ROiE & 90 | & d5d A & dc, &4el o 2fed Hed & -

[Question ID = 1050][Question Description = Q33_AMM_PC_NAIRAUG4]
- General Manager / HEHaEH

[Option ID = 4197]

2. PFA/diusHT

[Option ID = 4198]
3. PCMM / dEeaTH

[Option ID = 4199]
4. Member Finarice Railway Board. / e fad @d @15

[Option ID = 4200]
Correct Answer :-
® PFA/dusHT

[Option ID = 4198]



34) Which of the following reappropriation is within the powers of GM of a Zonal
Railway. / MFfaf@a & & #la @ laFdsE e g & e &

afeedl & 3 Bl

[Question ID = 1051][Question Description = Q34_AMM_PC_NAIRAUG4]
1. One Demand to another / T T GET AT

[Option ID = 4201]

Capital fund to any other Railway fund / Jaifera fAfer &

el 31w W@ @5 H

[Option ID = 4202]

One work to another work under same plan head and same source of fund.

/W & Ao A 3R v g1 AT & Sl & aed U sl 3 gai &Rl

[Option ID = 4203]
One plan head to another plan head. / @& s off ¥ @y s o

H
[Option ID = 4204]

Correct Answer :-
One work to another work under same plan head and same source of fund.

’ /1w & A w3 v & B & @ & aed U i W gu e

[Option ID = 4203]

35) Set the order of occurrence of the following

[}  Provisional Para
1) Draft Para

[} Action taken MNots
V) Audit Para

Which of the following options is comrect.

i@ & afita 6t & #a g &t

I) =TT O

Iy 3ToRE Ry

Wy &Y IS Fiars fevatorgt

V) 3iEe

Fefai@a & & sl a1 TaweT wér &1
[Question ID = 1052][Question Description = Q35_AMM_PC_NAIRAUG4]
LR 1188 VA

[Option ID = 4205]
P VAT T

[Option ID = 4206]
EN TR Y,

[Option ID = 4207]
4001

[Option ID = 4208]

Correct Answer :-
R | O P AV

[Option ID = 4208]





